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Q1) A) Fill in the blanks (Any- 5) [5]

i) There must be at least_____ parties to the contract of Sale of Goods.

( One, Two, Three)

ii) ______ type of agreement is used to form a partnership firm.

( Written, Oral, Both)

iii) The person writing the cheque is called______

(Drawer, Drawee, Payee)

iv) ______ is the theft of personal or confidential information from
any person, organization or any system of organization.

(Cybercrime, Virus, E-mail Spooting)

v) Every partner is ______ of the other partners.

(Agent, Employee, Creditor)

vi) Indian contract Act came into existence from_____

(1972,1872,1772)

B) Match the following. [5]

A Group B Group

i) Negotiable Instrument Act. a) 1967

ii) Information Technology Act. b) 2019

iii) The consumer Protection Act. c) 1957

iv) Copy Right Act. d) 2000

v) World intellectual property

organisation e) 1881

P.T.O.
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Q2) Attempt any 5. [25]

a) What is dissolution of partnership?

b) Explain Essential Elements of the valid contract.

c) Distinguish between Sale & Agreement to sale of goods.

d) Explain powers of Arbitrator.

e) What are the advantages of LLP?

f) Explain exceptions to the Agreement without consideration.

g) What are the characteristics of contract?

Q3) Attempt any 5. [25]

a) What do you mean by promisory note? Explain four charecteristics.

b) What is patent?

c) What are the characteristics of trademark?

d) Explain the concept of central consumer protection council.

e) Explain the significance of E-commerce.

f) Explain the concept of Electronic signature.

g) What are the essentials of bill of exchange.

Q4) Attempt any 1. [10]

a) What are the different ways of discharge of Contract?

b) Explain the three-tier consumers’s Disputes Redressal Commissions.


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am (H$moUË¶mhr nmM) [5]

i) dñVy{dH«$s H$amam‘Ü¶o {H$‘mZ ............. ì¶º$s Agmì¶mV.

(EH$, XmoZ, VrZ)

ii) ^m{JXmar g§ñWo‘Ü¶o ............. àH$maMm H$ama Ho$bm OmVmo.

(boIr, Vm|S>r, XmoÝhr)

iii) YZmXoe {b{hUmè¶m ì¶º$sbm ............. Ago åhUVmV.

(AmXoeH$, AmXoemWu, àmáH$Vm©)

iv) .............. åhUOo H$moUË¶mhr ì¶º$s g§ñWm qH$dm g§ñWoÀ¶m H$moUË¶mhr àUmbrVyZ d¡¶{º$H$
qH$dm JmonZr¶ ‘m{hVrMr Mmoar hmo¶.

(gm¶~a H«$mB‘, ìhm¶ag, B©-‘ob ñnwq’$J)

v) àË¶oH$ ^m{JXma ^m{JXmar g§ñWoÀ¶m BVa ^m{JXmam§ gmo~V ............. åhUyZ H$m‘ H$aVmo.

(à{V{ZYr, H$‘©Mmar, F$UH$mo)

vi) ^maVr¶ H$ama H$m¶Xm ............. gmbr ApñVÎdmV Ambm.

(1972,1872,1772)

~) ¶mo½¶ OmoS²>¶m Owidm. [5]

"A' JQ> "~' JQ>

i) MbZj‘ hñVEodO H$m¶Xm A) 1967

ii) ‘m{hVr V§ÌkmZ H$m¶Xm ~) 2019

iii) J«mhH$ g§ajU H$m¶Xm H$) 1957

iv) boIm{YH$ma H$m¶Xm S>) 2000

v) OmJ{VH$ ~m¡{ÕH$ g§nXm g§KQ>Z B) 1881
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à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) ^m{JXmarMo {dgO©Z åhUOo H$m¶?
~) d¡Y H$amamÀ¶m H$m¶Xo{ea ~m~r ñnï> H$am?
H$) dñVy{dH«$s d dñVy{dH«$sMm H$ama h¶m‘Yrb ’$aH$ ñnï> H$am?
S>) bdmXmMo A{YH$ma ñnï> H$am?
B) ‘¶m©{XV O~m~Xmar ^m{JXmar g§ñWoMo ’$m¶Xo gm§Jm?
’$) "‘mo~Xë¶m {edm¶ hmoUmao H$ama ì¶W© AgVmV' h¶m§Mo AndmX ñnï> H$am?
¶) H$amamMr d¡{eï>¶o ñnï> H$am?

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) dMZ{MR>r åhUOo H$m¶? Mma d¡{eîQ>ço gm§Jm.
~) noQ>oÝQ> åhUOo H$m¶?
H$) ì¶mnma {MÝhm§Mr d¡{eîQ>ço gm§Jm?
S>) "H|${Ð¶ J«mhH$ g§ajU narfX' g§H$ënZm ñnï> H$am.
B) B©-H$m°‘g©Mo ‘hÎd ñnï> H$am?
’$) Bbo³Q´>mo{ZH$ ghr g§H$ënZm ñnï> H$am?
¶) {d{Z‘¶ nÌmÀ¶m Amdí¶H$ H$m¶Xo{ea ~m~r ñnï> H$am?

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) H$amamVyZ ‘wº$ hmoÊ¶mÀ¶m {d{dY nÕVr/‘mJ© ñnï> H$am?
~) {ÌñVar¶ J«mhH$ VH«$ma {ZdmaU ¶§ÌUm ñnï> H$am?


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Q1) A) Fill in the blanks (Any- 5) [5]

a) AS-3 Stands for______

(Cash flow statement, Accounting for Government Grants,
Employee Benefits)

b) As per Banking regulation Act-1949 Every Bank has to transfer
_____percent of amount profit to statutory reserve.

(20%, 25%, 30%)

c) Ex-interest basis means the purchase price of securities_______
interest.

(Takeover, excludes, outstanding)

d) Current ratio indicates ______ of the business.

(Profitability, Solvency, Liquidity)

e) The_______ branches are not allowed to make their own purchases
from open market.

(Dependent, Independent, Reliable)

f) Schedule Number 8 stands for _______ in bank final Account.

(Fixed Assets, Investment, Borrowings)

B) True or False (Any-5) [5]

a) AS-3 Stands for Cash flow statement.

b) Scheduled number 3 stands for borrowings in Bank final Account.

c) Investment account is Nominal account.

d) Standard Current Ratio is 2:1.

P.T.O.
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e) Consumer cooperative society maintains profit and loss account
and Balance sheet.

f) Alteration and reduction of share capital is known as internal
reconstruciton of Company.

Q2) Attempt any 5 questions from the following. [25]

a) Write a down formate of Balance sheet of banking company.

b) Explain the concept of Dependent branch and Independent Branch.

c) Explain the concept of “Accounting for Corporate Social Responsibility”

d) Calculate Current Ratio.

Cash Rs. 10,000/-; Debtors Rs. 20,000/-; Furniture Rs. 5,000/-

Creditors Rs. 15,000/-; Debentures Rs. 50,000/-

e) Explain the terms ‘Cum Interest’ and ‘Ex Interest’.

f) Write a short note on ‘Credit Co-Operative Societies’.

g) Explain the concept of Internal Reconstruction and External
Reconstruction with suitable example.

Q3) Attempt any 5 questions from the following. [25]

a) Explain the different types of Cooperative societies?

b) Write short note on Forensic Accounting.

c) Gupta Brothers, Delhi have a Branch at Kolkata. Details of their goods
supply is given below, Stock at Branch as on 01-04-2021 Rs. 30,800,
Goods supplied to the branch Rs. 1,51,200 Goods return to head office
Rs. 5,000. Prepare Branch Stock Account of Kolkata branch in the books
of Gupth Brothers, Delhi. (Head Office)

d) Calculate Current ratio and Liquid ratio from the following information
Stock Rs. 1,00,000, Debtors Rs. 75,000, Cash Rs. 25,000,

Sundry Creditors Rs. 35,000, Bills Payable Rs. 15,000, Bank Overdraft
Rs. 50,000.

e) Write note on AS-12 Accounting of Government Grants.

f) Explain the concept of Bonus issue and Right Issue.

g) Write down format of Profit and Loss Account as per banking regulation
Act 1949.
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Q4) Attempt any 1 of the following. [10]

a) Following is the Trading A/c and Profit & Loss A/c of AVS Ltd. For the
year ended 31st March, 2022.

Dr. Trading A/C and Profit and Loss A/c Cr.

Particulars Rs. Particulars Rs.

To Opening Stock 20,000 By Sales 8,00,000

To Purchases 6,80,000 By Closing Stock 1,00,000

To Gross Profit c/d 2,00,000

9,00,000 9,00,000

To Operating Expenses 40,000 By Gross Profit b/d 2,00,000

To Net Profit 1,60,000

2,00,000 2,00,000

Calculate following ratios;

1) Gross Profit Ratio

2) Net profit ratio

3) Operating ratio

4) Stock turnover ratio

b) Explain different types of branches in detail.


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Q1) Attempt any ten out of twelve from the following. [10×1=10]
i) ______ is the financial year in India.

a) 1 March to 31 April b) 1 April to 31 March
c) 1 January to 31 December d) 16 March to 15 March.

ii) National Bank for Agriculture and Rural Development (NABARD) was
established in the_______
a) 1982 b) 1990
c) 1934 d) 1980

iii) New Industrial policy announced on the day of ______
a) 15 August 1947 b) 26 January 1975
c) 24 July 1991 d) 2 October 1995

iv) GDP known as ________
a) Gross Domestic product b) Government Democratic policy
c) Ganga Dham project d) None of the above

v) Integrated child development scheme was launched on _______
a) 26 January 1950 b) 19 February 1975
c) 15 August 1982 d) 2 October 1975

vi) FDI means_______
a) Film Development of India b) Fund Donation institution
c) Foreign Direct Investment d) None of the above

vii) EXIM policy is for ______
a) Import Export business
b) External chemical manufacturing
c) Extra control management
d) All of the above.

viii) IMF stands for
a) Internal monetory fund
b) International monopoly foundation
c) International monetory fund
d) Indian money fund

P.T.O.
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ix) Indian Economy is ______
a) Developed Economy b) Emerging Economy
c) Dual Economy d) Non Agriculture Economy

x) The main source of foreign capital in India is ______
a) Loan from abroad b) Foreign Direct investment
c) Both (a) and (b) d) None of the above

xi) GNP=_______+NR–NP.
a) GDP b) Import
c) Export d) All of the above

xii) Regional Rural Bank was establish on
a) 14 November 1975 b) 2 October 1975
c) 2 October 1977 d) 14 February 1980

Q2) Attempt any five out of seven. [5×5=25]
a) Role of agriculture in Indian Economy.
b) Explain the importance of Industrialisation in Indian Economy.
c) Discuss the role of service sector in India Economy.
d) Discuss the problems of public sectors in India.
e) Discuss the limitation of foreign capital.
f) Explain the causes of unfaverable balance of payment
g) BRICS-functions.

Q3) Attempt any five out of seven. [5×5=25]
a) Explain the functions of International Monetory fund.
b) Discuss the Indias Balance of payment since 2001.
c) Explain the role of micro and small Enterprises in India.
d) Discuss the measures of low productivity of Indian agriculture.
e) Discuss the gender inequility index & global hunger index.
f) Explain the objectives of world Bank.
g) Foreign investment in India since 2001.

Q4) Attempt any one out of two [1×10=10]
a) Compair the Indian Economy with world economy with reference to

national Income, population, Agriculture, industry & service sector.
b) Explain the functions of world trade organisation.


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à.à.à.à.à.1) Imbrbn¡H$s 10 àíZ gmoS>dm. [10×1=10]
i) .......... ho ^maVr¶ Am{W©H$ df} Amho.

A) 1 ‘mM© Vo 31 Eàrb ~) 1 Eàrb Vo 31 ‘mM©
H$) 1 OmZodmar Vo 31 {S>g|~a S>) 16 ‘mM© Vo 15 ‘mM©

ii) ............ gmbr Zm~mS>©Mr ñWmnZm Pmbr.
A) 1982 ~) 1990
H$) 1934 S>) 1980

iii) Z{dZ Am¡Úmo{JH$ YmoaU ........... ¶m {Xder Kmo{fV H$aÊ¶mV Ambo.
A) 15 Am°JñQ> 1947 ~) 26 OmZodmar 1975
H$) 24 Owb¡ 1991 S>) 2 Am°³Q>mo~a 1995

iv) G.D.P. Mo nyU© ê$n {bhm.
A) gH$b amï´>r¶ CËnmXZ ~) gaH$mar bmoH$emhr YmoaU
H$) J§JmYm‘ àH$ën S>) ¶mn¡H$s Zmhr

v) EH$mË‘rH$ ~mb{dH$mg godm ¶moOZm ............... ¶m {Xder Om{ha H$aÊ¶mV Ambr.
A) 26 OmZodar 1950 ~) 19 ’o$~«wdmar 1975
H$) 15 Am°JñQ> 1982 S>) 2 Am°³Q>mo~a 1975

vi) F.D.I. åhUOo ............
A) {’$ë‘ S>oìhbn‘|ÝQ> Am°’$ B§S>r¶m ~) ’§$S> S>moZoeZ B§S>ñQ´>r
H$) ’$m°aoZ S>m¶ao³Q> BZìhoñQ>‘|ÝQ> S>) ¶mn¡H$s Zmhr

vii) E³Pr‘ (EXIM) YmoaU ho .............. gmR>rMo YmoaUo Amho.
A) Am¶mV-{Z¶m©V ì¶mnma ~) ~mhç agm¶Zo CËnmXZo
H$) A{V[aº$ {Z¶§ÌU ì¶dñWmnZ S>) darbn¡H$s gd©

viii) Am¶.E‘.E’$. (IMF) åhUOo ...........
A) B§Q>Z©b ‘Zr ’§$S> ~) B§Q>aZ°eZb ‘moZmonm°br ’$m¢S>oeZ
H$) B§Q>aZ°eZb ‘m°ZoQ>ar ’§$S> S>) B§S>r¶Z ‘moZoQ>ar ’§§$S>
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ix) ^maVr¶ AW©ì¶dñWm hr ................. AW©ì¶dñWm Amho.
A) {dH$grV ~) CX²¶Z‘wI
H$) Xþhoar S>) AH¥${fH$

x) ^maVmVrb naH$s¶ ^m§S>dbmMm .............. hm ‘w»¶ ‘mJ© Amho.
A) naXoer H$O} ~) naH$s¶ WoQ> J§wVdUwH$
H$) (A) Am{U (~) S>) darbn¡H$s Zmhr

xi) gH$b amï´>r¶ CËnmXZ (GNP) = ........... + naXoemVrb {Zìdi CËnmXZ (NR) - naXoemVrb
{Zìdi XoUr (NP).
A) amï´>r¶ gH$b CËnmX (G.D.P.) ~) Am¶mV
H$) {Z¶m©V S>) darbn¡H$s gd©

xii) àmXo{eH$ J«m‘rU ~±Ho$Mr ñWmnZm ............... ¶m {Xder H$aÊ¶mV Ambr.
A) 14 Zmoìh|~a 1975 ~) 2 Am°³Q>mo~a 1975
H$) 2 Am°³Q>mo~a 1977 S>) 14 ’o$~«wdmar 1980

à.à.à.à.à.2) Imbrb àíZm§n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]
A) ^maVr¶ AW©ì¶dñWoV eoVrMr ŷ{‘H$m ñnï> H$am.
~) ^maVr¶ AW©ì¶dñWoVrb Am¡ÚmoJrH$aUmMo ‘hÎd ñnï> H$am.
H$) ^maVr¶ AW©ì¶dñWoVrb godm joÌmMr ŷ{‘H$m ñnï> H$am.
S>) ^maVmVrb gmd©O{ZH$ joÌmÀ¶m g‘ñ¶m {bhm.
B) naXoer ^m§S>dbmÀ¶m ‘¶m©Xm! MMm© H$am.
’$) Ag§VwbrV ì¶dhma VmobmMr H$maUo ñnï> H$am.
¶) {~«³g² (BRICS) H$m¶}.

à.à.à.à.à.3) Imbrb àíZm§n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]
A) Am§Vaamï´>r¶ ZmUo{ZYrMr H$m¶} ñnï> H$am.
~) 2001 nmgwZÀ¶m ^maVr¶ ì¶dhmaVmobmMr MMm© H$am.
H$) gwú‘ Am{U bKw CÚmoJm§Mr ^maVmVrb ŷ{‘H$m ñnï> H$am.
S>) ^maVr¶ eoVrVrb Aën CËnmXH$ÎmoÀ¶m Cnm¶m§M§r MMm© H$am.
B) qbJ ôX {ZX}em§H$ Am{U OmJ{VH$ ŵH$ {ZX}em§H$ ¶mMr MMm© H$am.
’$) OmJ{VH$ ~±Ho$Mr C{Ôï>ço ñnï> H$am.
¶) 2001 nmgwZÀ¶m ^maVmVrb naXoer J§wVdUyH$sMm AmT>mdm ¿¶m.

à.à.à.à.à.4) H$moUVmhr EH$ àíZ gmoS>dm. [1×10=10]
A) amḯ>r¶ CËnÞ, bmoH$g§»¶m, eoVr, CÚmoJ Am{U godm joÌmÀ¶m AmYmao ̂ maVr¶ AW©ì¶dñWoMr OmJ{VH$

AW©ì¶dñWo ~amo~a VwbZm H$am.
~) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶© ñnï> H$am.


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Q1) A) Fill in the Blanks (Any five) [5]

i) _______ is the examination by the auditor of all documentary
evidences, which are available to support the authenticity of the
transaction entered in records.

a) Accounting b) Book keeping

c) Vouching d) Recording

ii) _____ is commonly followed method of misappropriation of cash
by concealing cash shortages and covering them through recoveries
from another customer.

a) Accounting and Investigation

b) Book Keeping and Accounting

c) Teeming and Lading

d) FIFO and LIFO

iii) _____ means and enquiry into the value, ownership, title, existence,
possession and presence of any charge on the assets.

a) Audit Evidence b) Recording

c) Verification d) Ratio analysis

iv) TAN means_____

a) Total Account Number

b) Taxable Account Number

c) Tax Deduction Account Number

d) Temporary Account Number

P.T.O.
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v) Which of the following Allowance is fully taxable____

a) House Rent Allowance b) City Compensatory Allowance

c) Children education allowance d) Transport Allowance

vi) Which is qualifying deduction u/s 80G from the following_____

a) Donation to Company b) Donation to Charitable Trusts

c) Donation to Firm d) Donation to Political Party

B) True of False Statements (Any five) [5]

i) The provision related to tax audit under the Income Tax Act 1961 is
given u/s 44AB.

ii) Audit Certificate is an instrument through which the auditor expresses
his opinion about the accounts.

iii) Audit as per Company Act provisions is example of Audit under
Statue.

iv) Advance payment of Tax is another method of collection of tax by
the central government.

v) There are two types of Capital Assets, namely: Long Term Capital
Assets and Short Term Capital Assests.

vi) Deduction from Salary u/s 16 Entertainment Allowance is for all
employees.

Q2) Attempt any five out of Seven from the following (5×5) [25]

a) Explain Audit Note Book.

b) Types of Audit.

c) Explain Tax Audit u/s 44AB

d) Vouching of Cash Book.

e) Agricultural Income.

f) Deductions u/s. 80 c

g) Explain Computation of Business Income.
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Q3) Attempt any five out of Seven from the following (5×5) [25]

a) Explain Audit Programme.

b) Valuation of plant and Machinery

c) Rights of Company Auditor.

d) Give examples of Exempted Income.

e) Explain Taxability of Allowances

f) State Tax Slab Rates.

g) State Car Perquisites and their Valuation under income from Salary.

Q4) Attempt any one out of Two from the following (1×10) [10]

a) Qualifications and Disqualifications of company Auditor.

OR

b) Compute Total taxable Income of Mr. Swatej from the following
information.

i) Gross Salary of Rs. 6,00,000.

ii) Income from House Property Rs. 60,000.

iii) Income from Business Rs. 4,35,500.

iv) Interest from Bank Deposit Rs. 45,000.

v) Interest on Government Securities Rs. 37,000.

vi) He made investments in-provident fund Rs. 60,000, L.I.P. Rs.
45,000,N.S.C 20,000.

vii) He paid professional Tax Rs. 2,500


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doi : 3 Vmg] [ EHy$U JwU : 70
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3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) ............ hr gd© H$mJXmonÌr nwamì¶m§Mr boImnarjH$mX²dmao narjm Amho, Oo Zm|Xr‘Ü¶o
g‘m{dï> Ho$boë¶m ì¶dhmamÀ¶m gË¶Vobm g‘W©Z XoÊ¶mgmR>r CnbãY AmhoV.
A) boIm ~) nwñVH$ nmbZ

H$) nmdVr nVrjU S>) Zm|Xr H$aUo
ii) ............. amoIrMm VwQ>dS>m bndyZ Am{U Xþgè¶m J«mhH$mH$Sy>Z dgybr H$ê$Z amoIrMm

J¡admna H$aÊ¶mMr gm‘mÝ¶V… nÕV Adb§~br OmVo.
A) boIm Am{U gImob VnmgUr ~) nwñVH$ nmbZ Am{U boIm H$‘©
H$) Q>rq‘J Am{U b°qS>J S>) FIFO Am{U LIFO

iii) ............... åhUOo ‘yë¶, ‘mbH$s, erf©H$, ApñVËd, Vm~m Am{U ‘mb‘Îmodarb H$moUË¶mhr
ewëH$mÀ¶m CnpñWVrMr Mm¡H$er.
A) A§Ho$jU nwamdm ~) Zm|Xr H$aUo
H$) nS>VmiUr/nmdVr narjU S>) JwUmoÎma {díbofU.

iv) TAN åhUOo ...............
A) Q>moQ>b AH$m¢Q> Z§~a ~) Q>°³go~b AH$m¢Q> Z§~a
H$) Q>°³g S>rS>³jU AH$m¢Q> Z§~a S>) Q>oånaar AH$m¢Q> Z§~a

v) Imbrbn¡H$s H$moUVm ^Îmm nyU©nUo H$anmÌ Amho ...............
A) Ka^mS>o ^Îmm ~) eha ^anmB© ^Îmm
H$) ‘wbm§Mm {ejU ^Îmm S>) dmhVyH$ ^Îmm

vi) Imbrbn¡H$s u/s80G A§VJ©V dOmdQ> nmÌ Amho ..............
A) H§$nZrbm XoUJr ~) Y‘m©Xm¶ Q´>ñQ>bm XoUJr
H$) ’$‘©bm XoUJr S>) amOH$s¶ njmbm XoUJr
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~) gË¶ qH$dm AgË¶ {dYmZo (H$moUVohr nmM) [5]

i) Am¶H$a H$m¶Xm 1961 A§VJ©V H$a boImnarjUmer g§~§{YV VaVwXr u/s44AB {Xbr Amho.

ii) boImnarjU à‘mUnÌ ho EH$ gmYZ Amho Á¶mX²dmao boImnarjH$ ImË¶m§~Ôb Amnbo ‘V
ì¶º$ H$aVmo.

iii) H§$nZr H$m¶X²¶mVrb VaVwXrZwgma boImnarjU ho d¡Ym{ZH$ boImnarjUmMo CXmhaU Amho.

iv) H$amMm AmJmD$ ^aUm hr H|$Ð gaH$maMr H$a g§H$bZmMr Xþgar nÕV Amho.

v) ^m§S>dbr ‘mb‘Îmm§Mo XmoZ àH$ma AmhoV, åhUOo… XrK©H$mbrZ ^m§S>dbr ‘mb‘Îmm Am{U
AënH$mbrZ ^m§S>dbr ‘mb‘Îmm.

vi) nJmamVyZ dOmdQ> u/s16 ‘Zmoa§OZ ^Îmm gd© H$‘©Mmè¶m§gmR>r Amho.

à.à.à.à.à.2) Imbrb gmVn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]

A) boImnarjU Zm|X dhr.

~) A§Ho$jUmMo/boImnarjUmMo àH$ma.

H$) u/s44AB A§VJ©V H$a A§Ho$jU/boImnarjU ñnï> H$am.

S>) amoI nwñVH$mMo nS>VmiUr.

B) H¥$fr CËnÞ.

’$) dOmdQ>r u/s. 80c

¶) ì¶dgm¶mÀ¶m CËnÞmMr JUZm ñnï> H$am.

à.à.à.à.à.3) Imbrb gmVn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) A§Ho$jU H$m¶©H«$‘ ñnï> H$am.

~) ¶§Ìgm‘J«rMo ‘yë¶m§H$Z

H$) H§$nZr boImnarjH$mMo/A§Ho$jH$ A{YH$ma.

S>) H$a‘wº$ CËnÞmMr CXmhaUo Úm.

B) ^Î¶m§Mr H$aaMZm ñnï> H$am.

’$) Am¶H$amMo ñb°~ {bhm.

¶) nJmamVyZ {‘iUmè¶m CËnÞm§VJ©V H$ma godm Am{U Ë¶m§Mo ‘yë¶m§H$Z ñnï> H$am.
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à.à.à.à.à.4) Imbrbn¡H$s XmoZn¡H$s H$moUVohr EH$ àíZ gmoS>dm. [10]

A) H§$nZr A§Ho$jH$mMr nmÌVm Am{U AnmÌVm.

qH$dm

~) Imbrb ‘m{hVrdê$Z lr. ñdVoO ¶m§À¶m EHy$U H$anmÌ CËnÞmMr JUZm H$am…-

i) EHy$U doVZ é. 6,00,000.

ii) KamÀ¶m ‘mb‘ÎmoVyZ CËnÞ é. 60,000.

iii) ì¶dgm¶mVyZ CËnÞ é. 4,35,500.

iv) ~±H$ R>odtdarb ì¶mO é. 45,000.

v) gaH$mar amo»¶m§darb ì¶mO é. 37,000.

vi) Ë¶m§Zr ^{dî¶ {Zdm©h {ZYr‘Ü¶o é. 60,000, L.I.P. é. 45,000,N.S.C 20,000.

vii) Ë¶m§Zr ì¶mdgm{¶H$ H$a é. 2,500 ^abm.


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Q1) Attempt any ten out of twelve from the following. [10]
i) The full form of HRM is ______

a) Human Relation Management
b) Humanistic Resource Management
c) Human Resource Management
d) Human Resourceful Management

ii) The functions of HRM is related to_____
a) Particular Department b) Top Level Management
c) Whole Organization d) Line Managers

iii) Human Resource Management is Primarily Concerned with _____
a) Sales b) Dimensions of people
c) External Environment d) Cost discipline

iv) Human Resource Management helps to improve ______
a) Production b) Productivity
c) Profit d) Power

v) Managerial functions of HRM is important for ______ of the organization.
a) Administration b) Smooth running
c) Financial Stability d) Maximizing profit

vi) Employee Leasing is also known as ______
a) Hiring part time workers b) Hiring full time workers
c) Hiring permanent workers d) Hiring temporary workers

vii) _____Concept revolves around the customers.
a) Production b) Marketing
c) Exchange d) Selling

viii) Fulfilling social responsibility is one of the essentials of ____ concept.
a) Societal b) Production
c) Product d) Exchange

ix) Market Segmentation_______ the total market.
a) Multiplies b) Subtracts
c) Divides d) None of the above

P.T.O.
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x) ______ is the oldest concept of marketing.
a) Product b) Exchange
c) Production d) Marketing

xi) _____ is an element of demographic segmentation.
a) Personality b) Age
c) Attitude d) All of the above

xii) Market segmentation is the ______ Activity of a marketer.
a) Primary b) Secondary
c) Tertiary d) None of the above

Q2) Attempt any five out of seven from the following. [25]
a) Explain the Human Resource information system.
b) Briefly explain the techniques of Job Analysis.
c) Write a short note on the general training methods.
d) Discuss the demerits of performance Appraisal.
e) Explain the importance of Marketing.
f) Differentiate between interest Rate and Exchange Rate.
g) State the importance of Advertising.

Q3) Attempt any five out of seven from the following. [25]
a) What steps should be taken while choosing a recruitment consultant?
b) Explain the diferent types of aptitude test?
c) State the need and objectives of Training and Development.
d) State the features of marketing.
e) Explain the types of Market.
f) Explain the advantages of Market Segmentation.
g) Differentiate between Advertising and Sales Promotion.

Q4) Attempt any one out of two from the following. [10]
a) Describe the direct and indirect methods of Recruitment.
b) Explain the advantages and disadvantages of advertising for the advertiser

and the consumer.


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PA-4682

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr 10 gmoS>dm. [10]
i) EMAmaE‘ (HRM) Mo nyU© ê$n ................. Amho.

A) h¶w‘Z [aboeZ ‘°ZoO‘|Q> ~) h¶w‘°{ZpñQ>H$ [agmog© ‘°ZoO‘|Q>
H$) h¶w‘Z [agmog© ‘°ZoO‘|Q> S>) h¶w‘Z [agmog©’w$b ‘°ZoO‘|Q>

ii) ‘mZdr g§gmYZ ì¶dñWmnZmMo H$m¶© ho ............... er g§~§YrV Amho.
A) {d{eï> {d^mJ ~) Cƒ ñV[a¶ ì¶dñWmnZ
H$) nyU© g§ñWm S>) gmIir ì¶dñWmnH$

iii) ‘mZdr g§gmYZ ì¶dñWmnZ ho ‘wiV… ............... er g§~§YrV Amho.
A) {dH«$s ~) ì¶qº$Mo n¡by
H$) ~mh¶ n¶m©daU S>) IM© {eñV

iv) ‘mZdr g§gmYZ ì¶dñWmnZ ................ dmT>{dÊ¶mg ‘XV H$aVo.
A) CËnmXZ ~) CËnmXZ j‘Vm
H$) Z’$m S>) gÎmm

v) ‘mZdr g§gmYZ ì¶dñWmnZmMo ì¶dñWmn{H$¶ H$m¶© ho g§ñWoÀ¶m .............. gmR>r ‘hËdmMo Amho.
A) àemgZ ~) gwairV MmbUo
H$) Am{W©H$ pñWaVm S>) OmñVrV OmñV Z’$m

vi) H$‘©Mm-¶m§Mr Z¡{‘{ÎmH$ {Z¶wº$s ¶mbmM ............. Agohr åhUVmV.
A) AY©doi {Z¶wº$s ~) nyU© doi {Z¶wº$s
H$) H$m¶‘ñdê$nr {Z¶wº$s S>) VmËnwaVr/h§Jm‘r {Z¶wº$s

vii) .............. g§H$ënZm J«mhH$m§̂ modVr {’$aVo.
A) CËnmXZ ~) {dnUZ
H$) {d{Z‘¶ S>) {dH«$s

viii) gm‘m{OH$ CÎmaXm{¶ËdmMr nyV©Vm H$aUo hr ................ g§H$ënZoVrb EH$ Amdí¶H$ Jmoï> Amho.
A) gm‘m{OH$ ~) CËnmXZ
H$) dñVy S>) {d{Z‘¶
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ix) ~mOmamMo {d^mOZ ho EHy$U ~mOmambm ............
A) JwUVo ~) dOm H$aVo
H$) ^mJVo S>) darbn¡H$s Zmhr

x) ............. hr {dnUZmMr gdm©V OwZr g§H$ënZm Amho.
A) dñVy ~) {d{Z‘¶
H$) CËnmXZ S>) {dnUZ

xi) ................ bmoH$g§»¶memñÌr¶ {d^mOZmMm KQ>H$ Amho.
A) ì¶{º$‘Ëd ~) d¶
H$) d¥Îmr S>) darbn¡H$s gd©

xii) ~mOmamMo {d^mOZ ho ‘mH}$Q>aMr ............... H¥$Vr Amho.
A) àmW{‘H$ ~) Xþæ¶‘
H$) V¥Vr¶ S>) darbn¡H$s Zmhr

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) ‘mZdr g§gmYZ ‘m{hVr àUmbr ñnï> H$am.
~) H$m¶© {díbofUmMr V§Ìo WmoS>³¶mV ñnï> H$am.
H$) gd©gmYmaU à{ejU nÕVr ¶mda {Q>n {bhm.
S>) H$m‘{Jar ‘yë¶m§H$ZmÀ¶m Xmofm§Mr MMm© H$am.
B) {dnUZmMo ‘hËd ñnï> H$am.
’$) ì¶mO Xa d {d{Z‘¶ Xa ¶mVrb ’$aH$ ñnï> H$am.
¶) Om{hamVrMo ‘hËd gm§Jm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) ^aVr g„mJma {ZdS>VmZm H$moUVr nmdbo CMbbr nm{hOoV?
~) A{^¶mo½¶Vm MmMUrMo {d{dY àH$ma ñnï> H$am.
H$) à{ejU d {dH$mgmMr JaO d C{Ôï>¶o ñnï> H$am.
S>) {dnUZmMr d¡{eîQ>ço gm§Jm.
B) ~mOmamMo àH$ma ñnï> H$am.
’$) ~mOma {d^mOZmMo ’$m¶Xo ñnï> H$am.
¶) Om{hamV d {dH«$s àMma ¶mVrb ’$aH$ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr 1 àíZm gmoS>dm. [10]
A) ^aVrÀ¶m àË¶j d AàË¶j nÕVrMo dU©Z H$am.
~) Om{hamVXma d J«mhH$ ¶m§À¶m Ñï>rZo Om{hamVrMo ’$m¶Xo d VmoQ>o ñnï> H$am.


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Q1) Attempt any ten out of twelve from the following [10×1=10]
a) The right to information act come into existence in ______

i) 2006 ii) 2007
iii) 2005 iv) 2004

b) The factories act come into existence in _____
i) 1948 ii) 1950
iii) 1970 iv) 1952

c) Which of the following are the principles of Ethics in business?
i) Honesty ii) Integrity
iii) loyalty iv) All of these

d) Majority must prevails is the principle of ____ management.
i) Company ii) Business
iii) Partnership iv) Corporate

e) _____ means to be free from an obligation or liability imposed on others.
i) Exempt ii) Deposit
iii) Pension iv) Amendment

f) When was the first industrial disputes act passed in India?
i) 1949 ii) 1930
iii) 1947 iv) 1977

g) _____ means all remuneration paid in cash if their terms of the contract
are fulfilled.
i) Wages ii) Salary
iii) Incentive iv) none of these

h) When did the employees provident fund? miscellaneous provisions act
come into force?
i) 1948 ii) 1953
iii) 1952 iv) 1968

P.T.O.
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i) ______ is a form of retirement benefits
i) Salary ii) wages
iii) provident fund iv) Tax

j) ______ implies tyrannical and cruel treatment to any member or members.
i) Pension ii) Wages
iii) Oppression iv) Salary

k) ______ is the state of being legally responsible for something.
i) Asset ii) Liability
iii) Wages iv) Salary

l) ______ governance is a concept. ratherthan an individual instrument.
i) Social ii) Service
iii) Corporate iv) Public

Q2) Attempt any five out of seven from the following. [5×5=25]
a) Mention the classification of labour laws.
b) Write a short note on the labour policy of India.
c) Write a short note on medical benefit council.
d) Write a short note on Incorporation of company.
e) State the legal provisions regarding compromise.
f) Explain the characteristics of company.
g) Write short note on corporate Governance.

Q3) Attempt any five out of seven from the following. [5×5=25]
a) Write a short note on provident fund
b) Write a short note on Audit
c) Explain the principles of business ethics
d) Explain the characteristics of company.
e) Explain objectives of the factories Act 1948
f) Explain classification of labour laws.
g) Write short note on unfair labour practices.

Q4) Attempt any one out of two from the following. [1×10=10]
a) Discuss the history and evolution of labour laws in India.
b) Explain the remedies and rights of the minority share holders.


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Q1) Attempt any ten out of twelve from the following. [10×1=10]
i) ______ is the financial year in India.

a) 1 March to 31 April b) 1 April to 31 March
c) 1 January to 31 December d) 16 March to 15 March.

ii) National Bank for Agriculture and Rural Development (NABARD) was
established in the_______
a) 1982 b) 1990
c) 1934 d) 1980

iii) New Industrial policy announced on the day of ______
a) 15 August 1947 b) 26 January 1975
c) 24 July 1991 d) 2 October 1995

iv) GDP known as ________
a) Gross Domestic product b) Government Democratic policy
c) Ganga Dham project d) None of the above

v) Integrated child development scheme was launched on _______
a) 26 January 1950 b) 19 February 1975
c) 15 August 1982 d) 2 October 1975

vi) FDI means_______
a) Film Development of India b) Fund Donation institution
c) Foreign Direct Investment d) None of the above

vii) EXIM policy is for ______
a) Import Export business
b) External chemical manufacturing
c) Extra control management
d) All of the above.

viii) IMF stands for
a) Internal monetory fund
b) International monopoly foundation
c) International monetory fund
d) Indian money fund

P.T.O.
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ix) Indian Economy is ______
a) Developed Economy b) Emerging Economy
c) Dual Economy d) Non Agriculture Economy

x) The main source of foreign capital in India is ______
a) Loan from abroad b) Foreign Direct investment
c) Both (a) and (b) d) None of the above

xi) GNP=_______+NR–NP.
a) GDP b) Import
c) Export d) All of the above

xii) Regional Rural Bank was establish on
a) 14 November 1975 b) 2 October 1975
c) 2 October 1977 d) 14 February 1980

Q2) Attempt any five out of seven. [5×5=25]
a) Role of agriculture in Indian Economy.
b) Explain the importance of Industrialisation in Indian Economy.
c) Discuss the role of service sector in India Economy.
d) Discuss the problems of public sectors in India.
e) Discuss the limitation of foreign capital.
f) Explain the causes of unfaverable balance of payment
g) BRICS-functions.

Q3) Attempt any five out of seven. [5×5=25]
a) Explain the functions of International Monetory fund.
b) Discuss the Indias Balance of payment since 2001.
c) Explain the role of micro and small Enterprises in India.
d) Discuss the measures of low productivity of Indian agriculture.
e) Discuss the gender inequility index & global hunger index.
f) Explain the objectives of world Bank.
g) Foreign investment in India since 2001.

Q4) Attempt any one out of two [1×10=10]
a) Compair the Indian Economy with world economy with reference to

national Income, population, Agriculture, industry & service sector.
b) Explain the functions of world trade organisation.


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à.à.à.à.à.1) Imbrbn¡H$s 10 àíZ gmoS>dm. [10×1=10]
i) .......... ho ^maVr¶ Am{W©H$ df} Amho.

A) 1 ‘mM© Vo 31 Eàrb ~) 1 Eàrb Vo 31 ‘mM©
H$) 1 OmZodmar Vo 31 {S>g|~a S>) 16 ‘mM© Vo 15 ‘mM©

ii) ............ gmbr Zm~mS>©Mr ñWmnZm Pmbr.
A) 1982 ~) 1990
H$) 1934 S>) 1980

iii) Z{dZ Am¡Úmo{JH$ YmoaU ........... ¶m {Xder Kmo{fV H$aÊ¶mV Ambo.
A) 15 Am°JñQ> 1947 ~) 26 OmZodmar 1975
H$) 24 Owb¡ 1991 S>) 2 Am°³Q>mo~a 1995

iv) G.D.P. Mo nyU© ê$n {bhm.
A) gH$b amï´>r¶ CËnmXZ ~) gaH$mar bmoH$emhr YmoaU
H$) J§JmYm‘ àH$ën S>) ¶mn¡H$s Zmhr

v) EH$mË‘rH$ ~mb{dH$mg godm ¶moOZm ............... ¶m {Xder Om{ha H$aÊ¶mV Ambr.
A) 26 OmZodar 1950 ~) 19 ’o$~«wdmar 1975
H$) 15 Am°JñQ> 1982 S>) 2 Am°³Q>mo~a 1975

vi) F.D.I. åhUOo ............
A) {’$ë‘ S>oìhbn‘|ÝQ> Am°’$ B§S>r¶m ~) ’§$S> S>moZoeZ B§S>ñQ´>r
H$) ’$m°aoZ S>m¶ao³Q> BZìhoñQ>‘|ÝQ> S>) ¶mn¡H$s Zmhr

vii) E³Pr‘ (EXIM) YmoaU ho .............. gmR>rMo YmoaUo Amho.
A) Am¶mV-{Z¶m©V ì¶mnma ~) ~mhç agm¶Zo CËnmXZo
H$) A{V[aº$ {Z¶§ÌU ì¶dñWmnZ S>) darbn¡H$s gd©

viii) Am¶.E‘.E’$. (IMF) åhUOo ...........
A) B§Q>Z©b ‘Zr ’§$S> ~) B§Q>aZ°eZb ‘moZmonm°br ’$m¢S>oeZ
H$) B§Q>aZ°eZb ‘m°ZoQ>ar ’§$S> S>) B§S>r¶Z ‘moZoQ>ar ’§§$S>
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ix) ^maVr¶ AW©ì¶dñWm hr ................. AW©ì¶dñWm Amho.
A) {dH$grV ~) CX²¶Z‘wI
H$) Xþhoar S>) AH¥${fH$

x) ^maVmVrb naH$s¶ ^m§S>dbmMm .............. hm ‘w»¶ ‘mJ© Amho.
A) naXoer H$O} ~) naH$s¶ WoQ> J§wVdUwH$
H$) (A) Am{U (~) S>) darbn¡H$s Zmhr

xi) gH$b amï´>r¶ CËnmXZ (GNP) = ........... + naXoemVrb {Zìdi CËnmXZ (NR) - naXoemVrb
{Zìdi XoUr (NP).
A) amï´>r¶ gH$b CËnmX (G.D.P.) ~) Am¶mV
H$) {Z¶m©V S>) darbn¡H$s gd©

xii) àmXo{eH$ J«m‘rU ~±Ho$Mr ñWmnZm ............... ¶m {Xder H$aÊ¶mV Ambr.
A) 14 Zmoìh|~a 1975 ~) 2 Am°³Q>mo~a 1975
H$) 2 Am°³Q>mo~a 1977 S>) 14 ’o$~«wdmar 1980

à.à.à.à.à.2) Imbrb àíZm§n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]
A) ^maVr¶ AW©ì¶dñWoV eoVrMr ŷ{‘H$m ñnï> H$am.
~) ^maVr¶ AW©ì¶dñWoVrb Am¡ÚmoJrH$aUmMo ‘hÎd ñnï> H$am.
H$) ^maVr¶ AW©ì¶dñWoVrb godm joÌmMr ŷ{‘H$m ñnï> H$am.
S>) ^maVmVrb gmd©O{ZH$ joÌmÀ¶m g‘ñ¶m {bhm.
B) naXoer ^m§S>dbmÀ¶m ‘¶m©Xm! MMm© H$am.
’$) Ag§VwbrV ì¶dhma VmobmMr H$maUo ñnï> H$am.
¶) {~«³g² (BRICS) H$m¶}.

à.à.à.à.à.3) Imbrb àíZm§n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]
A) Am§Vaamï´>r¶ ZmUo{ZYrMr H$m¶} ñnï> H$am.
~) 2001 nmgwZÀ¶m ^maVr¶ ì¶dhmaVmobmMr MMm© H$am.
H$) gwú‘ Am{U bKw CÚmoJm§Mr ^maVmVrb ŷ{‘H$m ñnï> H$am.
S>) ^maVr¶ eoVrVrb Aën CËnmXH$ÎmoÀ¶m Cnm¶m§M§r MMm© H$am.
B) qbJ ôX {ZX}em§H$ Am{U OmJ{VH$ ŵH$ {ZX}em§H$ ¶mMr MMm© H$am.
’$) OmJ{VH$ ~±Ho$Mr C{Ôï>ço ñnï> H$am.
¶) 2001 nmgwZÀ¶m ^maVmVrb naXoer J§wVdUyH$sMm AmT>mdm ¿¶m.

à.à.à.à.à.4) H$moUVmhr EH$ àíZ gmoS>dm. [1×10=10]
A) amḯ>r¶ CËnÞ, bmoH$g§»¶m, eoVr, CÚmoJ Am{U godm joÌmÀ¶m AmYmao ̂ maVr¶ AW©ì¶dñWoMr OmJ{VH$

AW©ì¶dñWo ~amo~a VwbZm H$am.
~) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶© ñnï> H$am.


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Q1) Attempt any ten [10]
i) Money Market is a market for lending and borrowing of fund

for______term.
a) Long term b) Short term
c) Medium term d) None of these

ii) Who controls the capital market in India?
a) SEBI b) RBI
c) IRDA d) NABARD

iii) Capital market is market for______
a) Short term fund b) Long term fund
c) Liquidity management d) Indigenous Bankers

iv) Which of the following is not regulatory institution in Indian financial
system?
a) RBI b) CIBIL
c) SEBI d) IRDA

v) Which of the follwing is the requlator of money market?
a) RBI b) Goverment
c) SEBI d) IRDA

vi) The securities and exchange board of india was established in _____
a) 1992 b) 1988
c) 1987 d) 1990

vii) Non banking financial institution are registered under
a) RBI Act 1934 b) Companies Act
c) SEBI Act d) Bank regulation Act

viii) Nifty is the index of
a) BSE b) OTCEI
c) MSE d) CSH

P.T.O.
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ix) Financial institutions are also known as______
a) Financial organization b) Financial intermediaries
c) Financial system d) None of the above

x) What is the simple example of stock index in India?
a) MSE b) Sensex
c) BSE d) SEBI

xi) Exchange rates are determind in______
a) The money market b) The foreign exchange market
c) The stock market d) The capital market

xii) Which of the following Activity is not permissible NBFC?
a) loan & advances
b) acquisition of shares
c) insurance business
d) construction of immovable property

Q2) Attempt any five. [25]
a) What is the deficiencies of Indian Money Market?
b) What is meaning capital market? which instrument used in the Indian

capital market?
c) Write a short note on the ‘Money Market Instrument’.
d) State the function of Indian Money Market.
e) Who is the participant of indian capital market?
f) Write a short note on recent development in foreign Exchange market.
g) State the function of indian capital market?

Q3) Attempt any five [25]
a) Write short note career opportunities in Stock Market.
b) What is meaning option market? state the types of option market?
c) Write short note - Life Insurance Company.
d) What is the career opportunities in insurance sector?
e) State the major function of SEBI.
f) Write short note on - Mutual fund.
g) Explain briefly distinction between bank & Non banking financial

institution’s.

Q4) Attempt any one. [10]
a) Explain in detail. Indicator of financial Development.
b) Explain in detail Initial Public Offer (IPO)


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à.à.à.à.à.1) H$moUVohr Xhm gmoS>dm. [10]
i) ‘wÐm ~mOma åhUOo ............ ‘wXVrgmR>r H$Om©Mr XodmU-KodmU H$aUma ~mOma hmo¶.

A) XrK© ‘wXV ~) Aën ‘wXV
H$) ‘Ü¶‘ ‘wXV S>) ¶mn¡H$s Zmhr

ii) ^maVmVrb ^m§S>dbr ~mOmamda H$moUmMo {Z¶§ÌU AgVo?
A) go~r ~) Ama~rAm¶
H$) Am¶ Ama S>r E S>) Zm~mS>©

iii) ^m§S>db ~mOma hm ............ ~mOma Amho.
A) AënH$mbrZ {ZYrMm ~) XrK©H$mbrZ {ZYrMm
H$) VabVm ì¶dñWmnZmMm S>) EoV²Xoer¶ ~±Ho$Mm

iv) Imbrbn¡H$s H$moUVr ^maVr¶ {dÎmr¶ g§ñWoVrb {Z¶m‘H$ g§ñWm Zmhr.
A) Ama ~r Am¶ ~) {g~rb
H$) go~r S>) Am¶ Ama S>r E

v) ‘wÐm ~mOmamMr Imbrbn¡H$s {Z¶m‘H$ g§ñWm H$moUVr?
A) Ama ~r Am¶ ~) gaH$ma
H$) go~r S>) Am¶ Ama S>r E

vi) ^maVr¶ gwajm Am{U {Z¶‘Z ‘§S>i (go~r) Mr ñWmnZm H$Yr Pmbr?
A) 1992 ~) 1988
H$) 1987 S>) 1990

vii) {~Ja ~±qH$J {dÎmr¶ g§ñWmMr Zm§oXUr H$moUË¶m H$m¶ÚmA§VJ©V Pmbr Amho?
A) ^maVr¶ [aPd© ~±H$ H$m¶Xm - 1934 ~) H§$nZr H$m¶Xm
H$) go~r H$m¶Xm S>) ~±H$ {Z¶‘Z H$m¶Xm

viii) {ZâQ>r hm .......... Mm {ZX}em§H$ Amho.
A) ~r.Eg.B©. ~) Amo.Q>r.gr.B©.AmB©.
H$) EZ.Eg.B©. S>) gr.Eg.EM
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ix) {dÎmr¶ g§ñWm ............... åhUyZhr AmoiIë¶m OmVmV.
A) {dÎmr¶ g§KQ>Zm ~) {dÎmr¶ ‘Ü¶ñW
H$) {dÎmr¶ ì¶dñWm S>) darbn¡H$s H$moUVohr Zmhr

x) ^maVmVrb eoAa {ZX}e§H$mMo Imbrbn¡H$s gmYo CXmhaU H$moUVo?
A) EZ.Eg.B©. ~) goÝgo³g
H$) ~r.Eg.B©. S>) go~r

xi) {dZr‘¶ Xa {ZpíMVr ............. hmoVo.
A) ‘wÐm ~mOmam‘Ü¶o ~) naH$s¶ {dZr‘¶ ~mOmam‘Ü¶o
H$) eoAa ~mOmam‘Ü¶o S>) ^m§S>db ~mOmam‘Ü¶o

xii) Imbrbn¡H$s H$moUË¶m CnH«$‘mbm {~Ja ~±qH$J {dÎmr¶ g§ñWmZm nadmZJr Zmhr.
A) H$O© d AJ«r‘o ~) ^mJ g§nmXZ
H$) {d‘m ì¶dñWm¶ S>) ñWmda ‘mb‘ÎmoÀ¶m ~m§YH$m‘mg

à.à.à.à.à.2) H$moUVohr nmM gmoS>dm. [25]
A) ^maVr¶ ZmUo~mOmamVrb H$‘VaVm H$moUË¶m AmhoV?
~) ^m§S>db ~mOma åhUOo H$m¶? ^m§S>db ~mOmamV H$moUVr gmYZo dmnabr OmVmV?
H$) Q>rnm {bhm - ZmUo~mOmamVrb gmYZo.
S>) ^maVr¶ ZmUo~mOmamMr H$m¶} gm§Jm.
B) ^maVr¶ ^m§S>db ~mOmamVrb gh^mJr KQ>H$ H$moUVo?
’$) Q>rnm {bhm - naH$s¶ {dZr‘¶ ~mOmamMm AbrH$S>rb H$mimVrb {dH$mg.
¶) ^maVr¶ ^m§S>db ~mOmamMr H$m¶} gm§Jm.

à.à.à.à.à.3) H$moUVohr nmM gmoS>dm. [25]
A) {Q>nm {bhm - eoAa~mOmamVrb H$[aAa g§Yr.
~) Am°ßeZ ~mOma åhUOo H$m¶? Am°ßeZ ~mOmamMo àH$ma gm§Jm.
H$) {Q>nm {bhm - ^maVr¶ Am¶w{d©‘m H§$nZr.
S>) {d‘mì¶dgm¶mVrb H$[aAaÀ¶m g§Yr H$moUË¶m AmhoV?
B) go~rMr H$m¶} gm§Jm.
’$) {Q>nm {bhm - nañna {ZYr (å¶wMAb ’§$S>)
¶) ~±H$m Am{U {~Ja~±qH$J {dÎmr¶ ¶m‘Yrb ’$aH$ WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.4) H$moUVmhr EH$ gmoS>dm. [10]
A) {dÎmr¶ {dH$mgmMo {ZX}eH$ g{dñVa ñnï> H$am.
~) Am¶.nr.Amo. g{dñVa ñnï> H$am.





Q1) Attempt any ten out of twelve from the following Marks :[10 × 1 = 10]

a) Allocation of Cost is _________ activity.

(Direct / Indirect / Complex / Rigid)

b) Process Costing is a _______________ of Costing.

(Technique / Tool / Method / Principle)

c) Cost of Insurance will be apportioned on the basis of ___________

(Area Occupied / No. of Workers / Asset Value / Direct Material)

d) Overhead is an aggregation of _____________

(Direct Cost / Indirect Cost / Prime Cost / Imputed Cost)

e) _____________ is the last step in Accounting of Overheads.

(Collection / Classification / Apportionment / Absorption)

f) ________ costing is useful in construction industry.

(Job / Contract / Batch / Process)

g) Basis for apportionment of canteen expenses is ____________

(Area Occupied / Direct Material / No. of workers /Asset Value)

h) ____________ costing is useful in hotel industry.

(Job / Contract / Process / Service)
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i) The Loss of the quantity in the process due to evaporation is
___________

(Abnormal Gain / Abnormal Loss / Normal Loss / Spoilage)

j) _____________ certifies the work in contract costing.

(Contractor/ Contractee / Architect / Supervisor)

k) Cost Accounting Standard 11 is about __________________

(Employee Cost / Administrative Overheads / Material Cost /
Classification of Cost)

l) Total of all direct expenses is _____________

(Overheads / Indirect Cost / Prime Cost / Sunk Cost)

Q2) Attempt any five out of seven from the following : [5 × 5 = 25]
a) Explain the terms: Cost Driver & Cost Pool.
b) What do you mean by Normal Loss and Abnormal Loss in Process

costing?
c) Give a brief note on element wise classification of cost.
d) Explain the features of process costing.
e) Distinguish between Fixed overheads and Variable overheads.
f) Following is the data relating to a process — Raw Material = 10, 000

Units (Value Rs. 10, 000)
Labour = Rs. 5000
Sundry Material = Rs. 1,000
Direct Expenses = Rs. 1050
Normal Loss in the Process is 3%
Wastage from the process was realized at 25 paisa per unit.
Actual Output of the process was 9500 Units.
Prepare Process Account and ascertain the value of abnormal loss / gain
if any.

g) A Delhi-Jaipur Transport Co. runs 4 buses between two towns which are
50 kilometres apart. The seating capacity of each bus is 50 passengers
and actual passengers carried are 80% of the seating capacity. All the 4
buses run on 25 days in a month and each bus makes one round trip per
day. Calculate passenger kilometres.
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Q3) Attempt any five out of seven from the following : [5 × 5 = 25]

a) Explain the concepts of Direct Cost and Indirect Cost.

b) Describe the features of Job Costing.

c) Distinguish between allocation and apportionment of overheads.

d) Explain the term ABC (Activity Based Costing).

e) What do you mean by under and Over Absorption of overheads?

f) Ascertain the amount to be transferred to the Profit & Loss account in a
contract as per the data given below.

Value of Work Certified = Rs. 4,00,000

Contract Price = Rs. 6, 00,000

Cash Received from contractee = Rs. 2, 00,000

Notional Profit = Rs. 75,000

g) Premier Tools Company, Pune, has three production departments A, B,
and C and two service Departments P & Q. Following cost data is
extracted for the month March 2020.

Production Department Expenses :

A - Rs.100 B - Rs. 600 C - Rs.300

Service Department Expenses :

P - Rs. 700 Q - Rs. 300

Their Common Expenses were as follows :

• Lighting Rs. 2000 • Plant Depreciation Rs. 9000

• Power Rs. 3000 • Rent & Rates Rs. 5500

The other details are as follows :

Particulars A B C P Q

Light points No. 14 10 4 8 4

Electricity KWH 50 30 20 30 20

Value of Plants Rs. 70,000 30,000 10,000 30,000 10,000

Floor Space sq. ft. 4,000 3,000 1,000 2,000 1,000

Prepare the statement showing Primary Distribution of Overheads.
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Q4) Attempt any one out of two from the following Marks : [1 × 10 = 10]
a) Union Transport Company supplies the following details in respect of a

Truck of 5 ton capacity.
• Cost of Truck Rs. 90, 000
• Estimated Life 10 years
• Diesel, Oil, Grease Rs. 15 Per trip each way
• Repairs & maintenance Rs. 500 per month
• Cleaner’s wages Rs. 250 per month
• Driver’s Wages Rs. 500 per month
• Insurance Rs. 4800 per year
• Tax Rs. 2400 per year
• General Supervision Rs. 4800 per year
The truck carries goods to and from city covering a distance of 50 miles
eachway. While going to the city, freight is available to the extent of full
capacity and on return 20% of capacity. Assuming that the truck runs on
an average 25 days a month, workout -
i) Operating cost per ton-mile
ii) Rate per trip the company should charge to earn 50% profit on

freightage is to be earned.
OR

b) Explain in detail: - Behavior wise and function wise classification of cost.





Q1) Attempt any 10 questions from the following : [10]
a) Define the term Investment.
b) What do you mean by Business Opportunity?
c) What is Business Plan?
d) What do you mean by project assistance?
e) What do you mean by Business crises?
f) Define Financial crises.
g) Define the term Annual tern over.
h) What is Break Even Analysis?
i) What do you mean by Project Appraisal?
j) Define the term Financial Analysis.
k) What is SWOT Analysis?
l) What is sick industrial unit?

Q2) Attempt any 5 Questions from the following : [25]
a) What are the features of technical assistance scheme?
b) Distinguish between manufacturing & service enterprises.
c) State the objectives of Business Plan.
d) State the functions of NIESBUD and SIDBI.
e) Explain the significance of a Business Plan.
f) Write a note on Integrative & Creative Approach.
g) Compare between Financial & Prosperity crises.
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Q3) Attempt any 5 questions From the following : [25]

a) Explain significance of startups in India.

b) Explain the Delegation & Leadership crises.

c) Explain the necessary steps to stabilize a new Business.

d) Explain the Financial & Marketing aspects of a Business Plan.

e) Explain the functions of DIC in details.

f) Explain the various reasons for the failure of a Project.

g) Describe the Limitations MSMEs.

Q4) Attempt any 1 question from the following : [10]

a) Evaluate the significance & characteristics of Prime Minister's Rojgar
Yojna (PMRY).

b) Describe the Establishment of MIDC & its achievements.


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àíZ 1) Imbrbn¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10]
A) Jw§VdUyH$ g§H$ënZm ñnï> H$am.
~) ì¶mnma g§Yr åhUOo H$m¶?
H$) ì¶dgm¶ ¶moOZm åhUOo H$m¶?
S>) àH$ën ghmæ¶ åhUOo H$m¶?
B) ì¶dgm{¶H$ g‘ñ¶m åhUOo H$m¶?
’$) {dÎm g‘ñ¶m g§km ñnï> H$am.
¶) dm{f©H$ CbmT>mb åhUOo H$m¶?
a) g‘{dÀNo>XZ {díbofU åhUOo H$m¶?
b) àH$ën ‘yë¶m§H$Z åhUOo H$m¶?
d) {dÎmr¶ {díbofU g§km ñnï> H$am.
e) SWOT {díbofU åhUOo H$m¶?
f) AmOmar CX¶moJ åhUOo H$m¶?

àíZ 2) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm : [25]
A) Vm§{ÌH$ ghmæ¶ ¶moOZoMr d¡{eï>¶o H$moUVr?
~) CËnmXZ CX²¶moJ d godm CX²¶moJ ¶m‘Yrb ’$aH$ ñnï> H$am.
H$) ì¶dgm{¶H$ ¶moOZoMr C{Ôï>o ñnï> H$am.
S>) NIESBUD Am{U SIDBI ¶m§Mr H$m¶} ñnï> H$am.
B) ì¶mdgm{¶H$ ¶moOZoMo ‘hÎd ñnï> H$am.
’$) EH${ÌV Ñï>rH$moZ Am{U {H«$E{Q>ìh Ñ{ï>H$moZ ¶mda {Q>n {bhm.
¶) {dÎm g‘ñ¶m d g‘¥Õ g‘ñ¶m ¶m‘Ü¶o VwbZm H$am.

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]
A) ^maVmVrb ñQ>mQ>©AnMo ‘hÎd ñnï> H$am.

~) A{YH$ma àXmZ g‘ñ¶m d ZoV¥Ëd g‘ñ¶m ñnï> H$am.

H$) Z{dZ ì¶dgm¶m‘Ü¶o pñWaVm AmUÊ¶mgmR>r Amdí¶H$ Q>ßno ñnï> H$am.

S>) ì¶dgm{¶H$ ¶moOZoMo {dÎmr¶ d {dnUZmMo KQ>H$ ñnï> H$am.

B) DIC Mr H$m¶} g{dñVa ñnï> H$am.

’$) àH$ën A¶eñdr hmoÊ¶mMr {d{dY H$maUo ñnï> H$am.

¶) MSME À¶m ‘¶m©Xm ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm : [10]
A) àYmZ‘§Ìr amoOJma ¶moOZoMo ‘hÎd Am{U d¡{eï>¶o ñnï> H$am.

~) MIDC Mr ñWmnZm Am{U MIDC À¶m ‘mÜ¶‘mVyZ gmÜ¶ Pmboë¶m ~m~r g{dñVa ñnï>
H$am.


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Q1) Attempt Any Ten : [10]

i) Non profit organization are known as __________.

a) Charitable organization b) Government organization

c) Business organization d) Personal organization

ii) Clubs, social clubs are known as _________.

a) Personal organization b) Membership organization

c) Government organization d) Basic Institutions

iii) Love, affection, honor and respect are the _________ needs.

a) Physical b) Personal

c) Egoistic d) Social

iv) When manufacturing companies manufacture goods but use the brand
name of the company at the time of sell it is called _________.

a) New brand b) Private lable

c) Original brand d) Old brand

v) _________ in a way there is an action plan.

a) New brand b) Brand strategy

c) Sell of goods d) Purchase of goods

SEAT No. :

P.T.O.
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vi) _________ in the market goods are bought and sold according to the
demand and need of the customer.

a) Ditto Market b) Wholesale market

c) Retail market d) Futures market

vii) ________ it includes communication system, electricity water, and
necessary technology.

a) Secondary facilities b) Necessary facilities

c) Basic Infrastructure d) Indirect facilities

viii) Doing business with more than one nation means ________.

a) Local business b) Global business

c) National business d) A National business

ix) In any business ________ is considered as the focal point.

a) Seller b) Producer

c) Consumer d) Distributor

x) The major factor affecting global marketing is _________.

a) Brand b) Natural situation

c) Sales process d) Price

xi) ________ it is an important component of every business.

a) Small business

b) Customer Relationship Management

c) High business

d) Market place

xii) Your customers are just a few clicks away form making a purchase if you
have _________.

a) Trade b) Website

c) Market d) Computer
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Q2) Attempt any five : [25]

a) Briefly explain the types of Non-profit organization.

b) State the feature of strategy by brand.

c) Write Notes-Non profit organizations in India.

d) State the advantages of functional marketing organization.

e) Briefly state the components of an effective marketing organization.

f) Briefly explain the importance of Brand strategy.

g) State the types of formation of Brand strategy.

Q3) Attempt any five : [25]

a) State the features of consumer protection Act 1986.

b) Write notes - Trade Marks Act 1999.

c) What are the features of Indian Patent Act 2005.

d) Write notes - Global marketing.

e) Briefly state the objective of global marketing.

f) State the challenges facing cyber security marketing.

g) Explain the need for cyber security marketing.

Q4) Attempt Any One : [10]

a) What is Agriculture Production? State the characteristics of Agriculture
production?

b) What is market demand? Explain in detail the determinants of market
demand?


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àíZ 1) H$moUVohr Xhm àíZ gmoS>dm :H$moUVohr Xhm àíZ gmoS>dm :H$moUVohr Xhm àíZ gmoS>dm :H$moUVohr Xhm àíZ gmoS>dm :H$moUVohr Xhm àíZ gmoS>dm : [10]

i) {dZm Z’$m g§ñWm ¶m .............. åhUwZ AmoiIë¶m OmVmV.

A) godm^mdr g§ñWm ~) emgH$s¶ g§ñWm

H$) ì¶mdmgm{¶H$ g§ñWm S>) d¡¶{³VH$ g§ñWm

ii) ³b~, gmoeb ³b~ ¶m ............. g§ñWm AmhoV.

A) d¡¶{³VH$ g§ñWm ~) gXñ¶Vm g§ñWm

H$) emgH$s¶ g§ñWm S>) nm¶m ŵV g§ñWm

iii) ào‘, AmnwbH$s, gÝ‘mZ Am{U AmXa ¶m ............ JaOm AmhoV.

A) ^m¡{VH$ ~) d¡¶{³VH$

H$) Ah§H$ma{df¶H$ S>) gm‘m{OH$

iv) Ooìhm CËnmXH$ H§$nÝ¶m dñVw§Mr {Z{‘©Vr H$aVmV, na§Vw {~H«$sÀ¶m doir, H§$nZrÀ¶m ZmdmZo ~±«S>
dmnaVmV Voìhm Ë¶mg ........... åhUVmV.

A) Z{dZ ~±«S> ~) ImgJr bo~b

H$) ‘wi ~±«S> S>) OwZm ~±«S>

P.T.O.
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v) .............. åhUOo EH$ àH$mao H¥$Vr AmaIS>m AgVmo.

A) Z{dZ ~±«S> ~) {MÝhm§H$Z ì¶whaMZm

H$) dñVw§Mr {dH«$s S>) dñVw§Mr IaoXr

vi) ............. ~mOmanoR>oV J«mhH$mÀ¶m ‘mJUrZwgma d JaOoZwgma dñVw§Mr IaoXr {dH«$s Ho$br
OmVo.

A) gXa ~mOma ~) KmD$H$ ~mOma

H$) {H$aH$moi {dH«$s S>) dm¶Xm ~mOma

vii) XiUdiUmMr ì¶dñWm, drO, nmUr Am{U Amdí¶H$ V§ÌkmZ ¶m§Mm g‘mdoe .............
hmoVmo.

A) Xþæ¶‘ gw{dYm ~) Amdí¶H$ gw{dYm

H$) nm¶m ŵV gw{dYm S>) AàË¶j gw{dYm

viii) EH$mnojm A{YH$ amï´>mgmo~V ì¶dgm¶ H$aUo åhUOo ................. hmo¶.

A) ñWm{ZH$ ì¶dgm¶ ~) OmJ{VH$ ì¶dgm¶

H$) amï´>r¶ ì¶dgm¶ S>) EH$ amï´>r¶ ì¶dgm¶

ix) H$moUË¶mhr ì¶dgm¶mV ............. hm H§o$Ðq~Xþ ‘mZbm OmVmo.

A) {dH«o$Vm ~) {Z‘m©Vm

H$) J«mhH$ S>) {dVaH$

x) OmJ{VH$ {dnUZmda n[aUm‘ H$aUmam ................ hm à‘wI KQ>H$ Amho.

A) ~±«S> ~) Z¡g{J©H$ n[apñWVr

H$) {dH«$s à{H«$¶m S>) qH$‘V

xi) .............. hm àË¶oH$ ì¶dgm¶mV ‘hÎdmMm KQ>H$ AgVmo.

A) bKw ì¶dgm¶ ~) J«mhH$ g§~Y ì¶dñWmnZ

H$) CÀM ì¶dgm¶ S>) ~mOmanoR>

xii) Vw‘À¶mH$S>o ............... Agë¶mg, Vw‘Mo J«mhH$ IaoXr H$aÊ¶mnmgwZ H$mhr {³bH$ Xþa
AmhoV.

A) ì¶mnma ~) do~gmB©Q>

H$) ~mOma S>) g§JUH$
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àíZ 2) H$moUVohr nmM àíZ gmoS>dm : [25]

A) {dZm Z’$m g§ñWoMo àH$ma WmoS>³¶mV gm§Jm?

~) {MÝhm§H$Z ì¶whaMZoMr d¡{eï>¶o gm§Jm?

H$) Q>rnm {bhm : ^maVmVrb {dZm Z’$m g§ñWm.

S>) H$m¶m}Ë‘H$ {dnUZ g§KQ>ZoMo ’$m¶Xo gm§Jm?

B) à^mdr {dnUZ g§KQ>ZoMo KQ>H$ WmoS>³¶mV gm§Jm?

’$) {MÝhm§H$Z ì¶whaMZoMo ‘hÎd WmoS>³¶mV gm§Jm?

¶) {MÝhm§H$Z ì¶whaMZm {Z{‘©VrMo àH$ma gm§Jm?

àíZ 3) H$moUVohr nmM àíZ gmoS>dm : [25]

A) J«mhH$ g§ajU H$m¶Xm 1986 d¡{eï>¶o gm§Jm?

~) Q>rnm {bhm - ì¶mnma{MÝh H$m¶Xm - 1999.

H$) ^maVr¶ noQ>§Q> A{Y{Z¶‘ 2005 Mr d¡{eï>¶o H$moUVr?

S>) Q>rnm {bhm - OmJ{VH$ {dnUZ.

B) OmJ{VH$ {dnUZmMr C{Ôï>o WmoS>³¶mV gm§Jm?

’$) gm¶~a gwajm {dnUZmg‘moarb AmìhmZo gm§Jm?

¶) gm¶~a gwajm {dnUZmMr JaO ñnï> H$am?

àíZ 4) H$moUVmhr EH$ àíZ gmoS>dm : [10]

A) H¥$fr CËnmXZ åhUOo H$m¶? H¥$fr CËnmXZmMr d¡{eï>¶o gm§Jm?

~) ~mOma ‘mJUr åhUOo H$m¶? ~mOma ‘mJUrMo {ZYm©aH$ KQ>H$ g{dñVa ñnï> H$am?





Q1) Attempt any TEN out of TWELVE from the following : [10]

a) What is premium?

b) What is nomination?

c) What is risk?

d) What is hazard?

e) What is early death claims?

f) What NAV?

g) Define consumer.

h) What is coastal shipping?

i) Who is domestic tour operator?

j) What is tour sector?

k) What is hotel?

l) What is TAAI?

Q2) Attempt any FIVE out of SEVEN from the following : [25]

a) How can be risk avoided?

b) What are the benefits of ULIP?

c) What are the basic elements of a marine insurance policy?

Total No. of Questions : 4]
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d) What are the various types of demand in the tourism industry?

e) Which career options available in tourism industry in India?

f) Discuss the objectives of IATO.

g) State the responsibilities of tour operator.

Q3) Attempt any FIVE out of SEVEN from the following : [25]

a) What is assignment of policy?

b) Classify the financial and non-financial risks.

c) State the five points for differences between traditional and non-
traditional plan.

d) State the features of the Insurance Laws (Amendment) Act 2015

e) Why is the development of Indian shipping industry is very slow?

f) State the types of tour operators.

h) State the role of ICAO.

Q4) Attempt any ONE out of TWO from the following : [10]

a) Describe various terms in insurance- first premium, renewal, limited
payment, single premium, days of grace, in detail.

b) What is tourism? State the factors influencing Tourist Transport
Selection.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb ~mam~mam~mam~mam~mam n¡H$s H$moUVohr XhmXhmXhmXhmXhm gmoS>dm. [10]

A) {d_m hám åhUOo H$m`?

~) Zm_m§H$Z åhUOo H$m`?

H$) OmoIr_ åhUOo H$m`?

S>) YmoH$m åhUOo H$m`?

B) bdH$a òUmao _¥Ë ỳMo Xmdo H$m` AmhoV?

\$) H$m` NAV?

`) "J«mhH$' `mMr ì`m»`m Úm.

a) H$moñQ>b {eqnJ åhUOo H$m`?

b) Xoem§VJ©V Qy>a Am°naoQ>a H$moU Amho?

d) Qy>a (Xm¡am) joÌ åhUOo H$m`?

e) hm°Q>ob åhUOo H$m`?

g) TAAI åhUOo H$m`?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb gmVgmVgmVgmVgmV n¡H$s H$moUVohr nmM nmM nmM nmM nmM gmoS>dm. [25]

A) YmoH$m H$gm Q>miVm òB©b?

~) ẁ{bnMo H$m` \$m`Xo AmhoV?

H$) gmJar {d_m nm°{bgrMo _yb ŷV KQ>H$ H$moUVo AmhoV?

S>) n ©̀Q>Z CÚmoJmV {d{dY àH$maMr _mJUr H$m` Amho?

B) ^maVmV n ©̀Q>Z CÚmoJmV H$moUVo amoOJma n`m©̀  CnbãY AmhoV?

\$) IATO À`m C{Ôï>m§Mr MMm© H$am.

`) Qy>a Am°naoQ>aÀ`m O~m~Xmè`m gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb gmVgmVgmVgmVgmV n¡H$s H$moUVohr nmM nmM nmM nmM nmM gmoS>dm. [25]

A) {då`mMo A{^hmñVm§H$Z H$aUo åhUOo H$m`?

~) Am{W©H$ Am{U J¡a-Am{W©H$ OmoI_tMo dJuH$aU H$am.

H$) nma§nm[aH$ Am{U Anma§nm[aH$ `moOZoVrb µ\$aH$m§gmR>r nmM _wÔo gm§Jm.

S>) {d_m H$m`Xo (gwYmaUm) H$m`Xm 2015 Mr d¡{eï> ò gm§Jm.

B) ^maVr` {eqnJ CÚmoJmMm {dH$mg AË §̀V g§W H$m Amho?

\$) Qy>a Am°naoQ>aMo àH$ma gm§Jm.

`) ICAO Mr ŷ{_H$m gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb XmoZXmoZXmoZXmoZXmoZ n¡H$s H$moUVohr EH$ EH$ EH$ EH$ EH$ gmoS>dm. [10]

A) {då`m_Yrb {d{dY g§kmMo dU©Z Vnerbdma H$am-àW_ hám, ZyVZrH$aU, _`m©{XV XoUo,
EH$b{d_m hám, OmXmMo {Xdg.

~) n ©̀Q>Z åhUOo H$m`? n ©̀Q>H$ dmhVyH$ {ZdS>rda n[aUm_ H$aUmao KQ>H$ gm§Jm.





Q1) Solve any 10 out of 12 : [10]
a) Which of the following is not a regulatory institution in Indian financial

system?

i) RBI ii) CIBIL

iii) SEBI iv) IRDA

b) Which of the following is not an objective of financial planning?

i) Ensuring enough funds are available at the right time

ii) Ensuring excess availability of funds at the right time

iii) Ensuring excess availability of finance at the right time

iv) All of the above

c) The main aim of capital structure is to :

i) Maximise owner’s return and minimise the cost of capital

ii) Maximise owner’s return and maximise the cost of capital

iii) Minimise owner’s return and minimise the cost of capital

iv) Minimise owner’s return and maximise the cost of capital

d) In ship manufacturing, the type of layout preferred is

i) Product layout ii) Process layout

iii) Fixed position layout iv) Combination layout

e) The Economic Order Quantity (EOQ) formula is taken using _______.

i) Differential calculus ii) Integral calculus

iii) Vector calculus iv) Multivariate analysis
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f) A supply chain which includes the distribution of finished product
and service?

i) Outbound logistics ii) Inbound logistics

iii) Supply of goods iv) Transportation

g) Which of the following is true for supply chain management?

i) The physical material moves in the direction of the end of chain.

ii) Flow of the cash backward through the chain.

iii) Exchange of information moves in both the direction.

iv) All the above

h) Money obtained by issue of shares is known as _________.

i) Debts ii) Share capital

iii) Loans iv) Reserve funds

i) Which of the following is not an organized sector in India?

i) Nationalized Banks ii) Regional Rural Banks

iii) Cooperative Banks iv) Chits and Money lenders

j) Which of these is not a part of Capital Structure?

i) Equity Shares ii) Debentures

iii) Short-term borrowings iv) Bonds

k) In the ABC Analysis system the B category stands for _________.

i) Outstanding importance in value

ii) Comparatively unimportant in value

iii) Comparatively important in value

iv) Average importance in value

l) A production system model consists of __________.

i) Inputs & Outputs ii) Conversion sub system

iii) Control Sub System iv) All of the above
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Q2) Solve any 5 out of 7 : [25]

a) Write a note on risk and return on investment.

b) What are the levels of production planning?

c) What is Plant Layout?

d) What is inventory management?

e) What is transport function?

f) What are the determinants of discount rate?

g) Write a note on under capitalization.

Q3) Solve any 5 out of 7 : [25]

a) Write a note on future value and present value.

b) Explain the limitations of financial planning.

c) Explain the types of capital

d) Explaining the responsibilities of a product manager

e) Explain the types of industrial structure.

f) What is Total Quality Management?

g) Explain the stages in supply chain.

Q4) Solve any 1 out of 2 : [10]

a) What is Business Financing? Explain its nature and importance.

b) Explain the difference between undercapitalization and
overcapitalization.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr 10 àíZ gmoS>m. (àË òH$s 1 JwU) [10]

A) Imbrbn¡H$s H$moUVr ^maVr` {dÎmr` ì`dñWoVrb {Z`m_H$ g§ñWm Zmhr?

i) RBI ii) CIBIL

iii) SEBI iv) IRDA

~) Imbrbn¡H$s H$moUVo Am{W©H$ {Z`moOZmMo C{Ôï> Zmhr?

i) `mo½` doir nwaogm {ZYr CnbãY hmoB©b `mMr ImÌr H$aUo

ii) `mo½` doir {ZYrMr A{V[aº$ CnbãYVm gw{ZpíMV H$aUo

iii) `mo½` doir {dÎmmMr A{V[aº$ CnbãYVm gw{ZpíMV H$aUo

iv) darb gd©

H$) ^m§S>dbr g§aMZoMo _w»` C{Ôï> Amho …

i) _mbH$mMm naVmdm dmT>{dUo Am{U ^m§S>dbmMr qH$_V H$_r H$aUo

ii) _mbH$mMm naVmdm dmT>{dUo Am{U ^m§S>dbmMr qH$_V dmT>dm

iii) _mbH$mMm naVmdm H$_r H$aUo Am{U ^m§S>dbmMr qH$_V H$_r H$aUo

iv) _mbH$mMm naVmdm H$_r H$aUo Am{U ^m§S>dbmMr qH$_V dmT>dm

4 P.T.O.
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S>) OhmO {Z{_©Vr_Ü ò, AmamIS>mÀ`m àH$mambm àmYmÝ` {Xbo OmVo

i) CËnmXZ AmamIS>m ii) à{H«$`m _m§S>Ur

iii) {ZpíMV pñWVr AmamIS>m iv) EH${ÌV AmamIS>m

B) Am{W©H$ H«$_ à_mU gyÌ .............. dmnê$Z KoVbo OmVo.

i) {d ôXH$ H°$ëŠ ẁbg ii) B§{Q>J«b H°$ëŠ ẁbg

iii) doŠQ>a H°$ëŠ ẁbg iv) ~hþ{dY {díbofU

\$) nwadR>m gmIir_Ü ò V`ma Pmbobo CËnmXZ Am{U godoMo {dVaU g_m{dï> Amho?

i) AmCQ>~mC§S> bm°{OpñQ>H$ ii) BZ~mC§S> bm°{OpñQ>Šg

iii) dñVy§Mm nwadR>m iv) dmhVyH$

`) nwadR>m gmIir ì`dñWmnZmgmR>r Imbrbn¡H$s H$moUVo gË` Amho?

i) ^m¡{VH$ gm_J«r gmIirÀ`m eodQ>À`m {XeoZo {\$aVo

ii) gmIirVyZ amoIrMm àdmh _mJo OmVmo

iii) _m{hVrMr XodmUKodmU XmoÝhr {XeoZo hmoVo

iv) darb gd©

a) eoAg© Omar H$ê$Z {_imbobm n¡gm ................. åhUyZ AmoiIbm OmVmo.

i) O~m~Xmar ii) ^mJ ^m§S>db

iii) H$O© iv) amIrd {ZYr

b) Imbrbn¡H$s H$moUVo ^maVmVrb g§K{Q>V joÌ Zmhr?

i) amï´>r`rH¥$V ~±H$m ii) àmXo{eH$ J«m_rU ~±H$m

iii) ghH$mar ~±H$m iv) {MQ> Am{U gmdH$ma

d) `mn¡H$s H$moUVm ^m§S>dbr g§aMZoMm ^mJ Zmhr?

i) g_h¸$ eoAg© ii) H$O©amoIo

iii) AënH$mbrZ H$O© iv) ~m±ÝS>g

e) E. ~r. gr. (ABC) {díbofU àUmbr_Ü ò "~r.' (B) loUr ............. Mm AW© Amho.

i) _yë`mV CËH¥$ï> _hÎd

ii) _yë`mV VwbZmË_H$Ñï>çm {~Z_hÎdmMo

iii) VwbZoZo _hÎdmMo

iv) _yë`m_Ü ò gamgar _hÎd

h) CËnmXZ àUmbr _m°S>ob_Ü`o ................ AgVmV.

i) BZnwQ> Am{U AmCQ>nwQ> ii) ê$nm§VaU Cn àUmbr

iii) {Z §̀ÌU Cn àUmbr iv) darb gd©
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>m. (àË òH$s 5 JwU) [25]

A) OmoIr_ Am{U Jw§VdUyH$ naVmdm `mda Q>rn {bhm.

~) CËnmXZ {Z`moOZmMo ñVa H$moUVo AgVmV?

H$) g §̀Ì AmamIS>m åhUOo H$m`?

S>) _mbgmR>m ì`dñWmnZ åhUOo H$m`?

B) dmhVyH$ H$m ©̀ åhUOo H$m`?

\$) gdbVrMm XamMo {ZYm©[aV KQ>H$ H$moUVo?

`) H$_r ^m§S>dbrH$aU `mda Q>rn {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>m. (àË òH$s 5 JwU) [25]

A) ^{dî`H$mbrZ _wë` d gÜ`mMo _wë` `mda {Q>n {bhm.

~) {dÎmr` {Z`moOZmMr _`m©Xm ñnï> H$am.

H$) ^m§S>dbmMo àH$ma ñnï> H$am.

S>) CËnmXZ ì`dñWmnH$mMr O~m~Xmar ñnï> H$aUo.

B) Am¡Úmo{JH$ AmamIS>`mMo àH$ma ñnï> H$am.

\$) EHy$U JwUdÎmm ì`dñWmnZ åhUOo H$m`?

`) nwadR>m gmIir Vrb Q>ßno ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVmhr 1 àíZ gmoS>m. (10 JwU) [10]

A) ì`dgm{`H$ {dÎm nwadR>m åhUOo H$m`? Ë`mMo ñdê$n Am{U _hÎd ñnï> H$am.

~) H$O©amoIo åhUOo H$m`? Ë`m§Mr d¡{eï> ò ñnï> H$am.





Q1) Attempt any Ten : [10]
a) Indian Banking Regulation Act ________.

i) 1948 ii) 1949

iii) 1881 iv) 1950

b) Negotiable instrument act ____________.

i) 1949 ii) 1950

iii) 1881 iv) 1883

c) Insolvency and bankruptcy act ___________.

i) 1881 ii) 1949

iii) 1980 iv) 2016

d) __________ Bank has implemented Banking Ombudsman Scheme
in 2006.

i) RBI ii) SBI

iii) ICICI iv) HDFC

e) The Information and Technology Act was passed by the Government
of India in ______ year.

i) 1999 ii) 2000

iii) 2001 iv) 2002

f) _________ is a postdated cheque.

i) Three months of non-payment

ii) A month ago

iii) More than six months dated

iv) Post dated
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g) A bank that collects the amount of a cheque on behalf of a customer is
called a ________ bank.

i) Collecting bank ii) Paying bank

iii) SBI iv) RBI

h) A loan sanctioned with _________ is called a secured loan.

i) Pledges ii) Guarantor

iii) Don’t require collateral iv) None of above

i) Profit making is the ___________ principle of a bank.

i) Liquidity ii) Profitability

iii) Safety iv) All of above

j) Banks offer education loans for __________.

i) Merchant ii) Large companies

iii) Partnership firms iv) Student

k) The Indian Transfer of Property Act was passed in __________.

i) 1882 ii) 1949

iii) 1950 iv) 1881

l) Banking Regulation Act 1949, banks definition in the section _______.

i) Section 6A ii) Section 5B

iii) Section 6B iv) Section 5A

Q2) Attempt any five : [25]

a) Explain characteristics of the negotiable instrument.

b) Briefly explain Banking Ombudsman Act 2016 and its objectives.

c) Write a short note on Bill of exchange?

d) Write a short note on insolvency and bankruptcy board of India?

e) Explain the appointment and tenure of Banking Ombudsman.

f) Explain in detail concept of noting and protest.

g) Write a short note on micro virous.
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Q3) Attempt any five : [25]

a) Explain loan recovery legal measures.

b) Explain general relationship of banker and customer.

c) Explain Duties and rights of paying bank.

d) Explain types of Mortgages.

e) Explain duties and rights of collecting bank.

f) Explain loan recovery illegal measures.

g) Short note on garnishee order.

Q4) Attempt any one : [10]

a) Explain the selective provisions of the Banking Regulation Act 1949.

b) Explain the types of cybercrimes in banking.


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àíZ àíZ àíZ àíZ àíZ 1) H$moUVohr Xhm àíZ gmoS>dm. [10]
A) ^maVr` ~±qH$J {Z`_Z H$m`Xm ................

i) 1948 ii) 1949

iii) 1881 iv) 1950

~) MbZj_ XñVEodO H$m`Xm ...............

i) 1949 ii) 1950

iii) 1881 iv) 1883

H$) ZmXmar Am{U {XdmiImoar H$m`Xm ..............

i) 1881 ii) 1949

iii) 1980 iv) 2016

S>) .............. ~±Ho$Zo 2006 _Ü ò ~±qH$J bmoH$nmb `moOZm bmJy Ho$br Amho.

i) Ama.~r.Am`. ii) Eg.~r.Am`.

iii) Am`.gr.Am`.gr.Am`. iv) EM.S>r.E\$.gr

B) _m{hVr Am{U V§ÌkmZ H$m`Xm ^maV gaH$maZo ............. dfm©V _§Oya Ho$bm.

i) 1999 ii) 2000

iii) 2001 iv) 2002

\$) H$mb~mø YZmXoe åhUOo .............. YZmXoe.

i) VrZ _{hZo Z-dmQ>{dbobm

ii) EH$m _{hÝ`m nyduMm

iii) VmaIo nmgyZ ghm _{hÝ`mnojm A{YH$ H$mbmdYr Pmbobm

iv) nwT>rb VmaIoMm

4 P.T.O.
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`) J«mhH$mÀ`m dVrZo YZmXoemMr a¸$_ dgyb H$aVo {Vbm ................ ~±H$ åhUVmV.

i) dgwbr ii) àXm`r

iii) Eg.~r.Am`. iv) Ama.~r.Am`.

a) .............. KoD$Z _§Oya Ho$boë`m H$Om©bm gwa{jV H$O© åhUVmV.

i) VmaU ii) Om_rZXma

iii) qdZm VmaU iv) `mn¡H$s Zmhr

b) Z\$m {_idUo ho ~±Ho$À`m ................. VËdV AgVo.

i) amoIVm ii) bm^àXVm

iii) gwa{jVVm iv) darb gd©

d) ~±H$m ................. gmR>r e¡j{UH$ H$O© XoVmV.

i) ì`mnmar ii) _moR²>`m H§$nÝ`m

iii) ^mJrXmar g§ñWm iv) {dÚmWu

e) ^maVr` _mb_Îmm hñVm§VaU H$m`Xm ................. _Ü ò g§_V H$aÊ`mV Ambm.

i) 1882 ii) 1949

iii) 1950 iv) 1881

g) ~±qH$J {Z`_Z H$m`Xm 1949 H$b_ ................ _Ü ò ~±H$m§Mr ì`m»`m {Xbobr Amho.

i) H$b_ 6A ii) H$b_ 5~

iii) H$b_ 6~ iv) H$b_ 5A

àíZ àíZ àíZ àíZ àíZ 2) H$moUVohr nmM àíZ gmoS>dm. [25]

A) MbZj_ XñVEodOmMr d¡{eï²> ò ñnï> H$am.

~) ~±qH$J bmoH$nmb H$m`Xm 2016 Am{U Ë`mMr C{Ôï>o WmoS>Š`mV ñnï> H$am.

H$) {d{Z_` nÌ `mda Q>rn {bhm?

S>) ^maVr` ZmXmar Am{U {XdmiImoar _§S>i `mda Q>rn {bhm?

B) ~±qH$J bmoH$nmbMr {Z ẁº$s Am{U H$m ©̀H$mi ñnï> H$am.

\$) Zm|X Am{U {ZfoY g§H$ënZm ñnï> H$am.

`) _m`H«$mo ìhm`ag Q>rn {bhm.
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àíZ àíZ àíZ àíZ àíZ 3) H$moUVohr nmM àíZ gmoS>dm. [25]

A) H$O© dgwbrMo H$m`Xoera Cnm` ñnï> H$am.

~) ~±H$ Am{U J«mhH$ `m§À`mVrb gm_mÝ` g§~§Y ñnï> H$am.

H$) àXm`r ~±Ho$Mo H$V©ì ò Am{U A{YH$ma ñnï> H$am.

S>) JhmUmMo àH$ma ñnï> H$am.

B) dgwbr ~±Ho$Mo H$V©ì ò Am{U A{YH$ma ñnï> H$am.

\$) H$O© dgwbrÀ`m {~Ja H$m`Xoera Cnm` `moOZm ñnï> H$am.

`) H$O© _wº$s AmXoe Q>rn {bhm.

àíZ àíZ àíZ àíZ àíZ 4) H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) ~±qH$J {Z`_Z H$m`Xm 1949 À`m {ZdS>H$ VaVwXr ñnï> H$am.

~) ~±qH$J_Yrb gm`~a JwÝøm§Mo àH$ma ñnï> H$am.





Q1) Attempt any ten out of twelve from the following : [10 × 1 = 10]
a) __________ goods are those that are chargeable to duty and on which

duty has not yet been paid.

(Dutiable, Imported, Exported, Physical)

b) Section _________ deals with confiscation of goods attempted to be
improperly exported.

(120, 111, 113, 119)

c) GST is __________ tax.

(Direct, Indirect, Input, Output)

d) In IGST, "I" stand for ___________.

(Intra, Internal, International, Integrated)

e) __________ is the authority vested with responsibility for the
administration of laws related to direct taxes.

(CGST, CBDT, ITC, CBEC)

f) Section __________ of Companies Act deals with internal audit.

(125, 127,138,139)

g) Dividend must be paid within _______ days of the proclamation date.

(30, 15, 25, 20)

h) _________ is the mechanism where the suppliers of goods or services
are liable to pay tax.

(Backward Charge, Forward Charge. Reverse Charge, Surcharge)
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i) Maximum number of directorships including alternate directorship is
_________.

(5, 10, 15, 20)

j) _________ give an overview of custom laws and procedures.

(Custom Manual, Custom Rule, Custom Act, Custom Report)

k) The person in whose place the alternate director is to be appointed
should be absent for a period of not less than _________ months
from India.

(3,4,5,6)

l) Section l23 of the Companies Act deals with ___________.

(Investors Education, Unclaimed Dividend, Final Dividend, Declaration
of Dividend)

Q2) Attempt any five out of seven from the following : [5 × 5 = 25]
a) What is the qualification and disqualification of an auditor?

b) Distinguish between Interim Dividend & Final Dividend

c) What are the various types of GST in India?

d) State the methods of valuation for customs.

e) What are the objectives of cost audit?

f) What is the penalty for delay and not filing the GST return?

g) Explain role and objectives of Investors Education and Protection Fund
(IEPF).

Q3) Attempt any five out of seven from the following : [5 × 5 = 25]
a) Explain the composition & working of the GST Council.

b) Write short note on NFRA.

c) Explain scope and objects of the Custom Act.

d) What are the functions of Goods & Services Tax Network(GSTN)?

e) What are the general provisions relating to the appointment of directors?

f) What is the role of the Central Board of Excise and Customs (CBEC)
under the GST regime?

g) What details are required to fill in GSTR -1?
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Q4) Attempt any one out of two from the following : [1 × 10 = 10]

a) What do you mean by Cost Audit? State the rights, duties,
responsibilities & liabilities of the cost auditor.

b) State the procedure for assessment of the duty and clearance of the
goods under Customs Act.





Q1) Attempt any 10 out of the 12 from the following : [10]

a) ________ budget is the foundation of all functional budgets.

(Finance / Production / Sales / Purchase)

b) Actual sales - Break Even Sales = ________.

(Profit Volume Ratio / Margin of safety / Contribution / Sales)

c) Total cost of a product: Rs. 10,000 Profit: 25% on Selling Price Profit
is _________.

(Rs. 2,500, / Rs. 3,000, / Rs. 3,333, / Rs. 2,000)

d) When the sales increase from Rs. 40,000 to Rs. 60,000 and profit
increases by Rs. 5,000, the P/V ratio is ___________.

(20%, 30%, 25%, 40%.)

e) The P/v ratio of a company is 50% and margin of safety is 40%. If
present sales are Rs. 30,00,000 then Break Even Point in Rs. will be
_________.

(Rs. 9,00,000, / Rs. 1 8,00,000, / Rs. 5,00,000, / None of the above)

f) (SQ x SP) - (AQ x AP) = _________ Variance.

(Material Price / Material Usage / Material Cost / Material Mix)

g) CARR stands for ___________.

(Cost Accounting Report Rules / Cost Accounting Record Rules /
Cost Auditing Report Rules / Cost Auditing Record Rules)

Total No. of Questions : 4]
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h) Uniform Costing is the basis for ___________.

(Budgetary Control / Marginal Costing / Inter-firm Comparison /
Standard Costing)

i) ___________ cost is pre-determined cost.

(Marginal / Variable / Standard / Fixed)

j) M.I.S. stands for __________.

(Management Internal System / Management Information System /
Management Intelligence System / Market Information System)

k) Cost Auditor prepares _________ after the cost audit.

(Cost Audit Report / Cost Audit Program / Check list / Working Papers)

l) Marginal Cost means _________.

(Fixed Cost / Variable Cost / Semi variable cost / Total Cost)

Q2) Solve any five out of the seven from the following : [25]
a) Maruti India Limited, Nashik provides you following details for Sept.

2018. Sales Rs. 400000, Variable Cost Rs. 200000, Fixed Cost
Rs. 100000

Find P/V Ratio, Break Even Point in Rupees and Margin of Safety
b) What are the objectives of budgeting?

c) Explain the objectives of uniform costing.

d) Explain the characteristics of MIS.

e) State the features of break- even point.

f) Explain the duties of cost auditor.

g) A Product requires 10 hours per unit to produce at a standard rate
Rs. 2 per hour. 1000 units were produced during March, 2021. Actual
time taken to produce was 9000 hours. The actual rate was Rs. 2.50
per hour. Calculate Labour cost variance and Labour Rate Variance.

Q3) Solve any five out of the seven from the following : [25]

a) State the advantages of budgetary control.

b) Compute P/V ratio and Fixed Cost from the following information.

Sales: 50,000, Profit: 5,000, Variable cost: 80%
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c) State the rights of cost auditor.

d) Explain the advantages of marginal costing.

e) Explain the advantages of standard costing

f) Explain the objectives of cost audit.

g) From the following information calculate

i) Material Cost Variance

ii) Material Price Variance

iii) Material Usage Variance

iv) Verification

Particulars Standard Actual

Quantity Units 5,000 5,500

Price Per Unit Rs. 2 3

Q4) Solve any one out of the two from the following : [10]
a) Differentiate between cost and financial audit.

b) The expenses budgeted for production at 100% capacity of Nilkamal
Ltd. Sinnar Dist. Nashik are given below.

Particular At 100% Capacity

in Rupees

Direct Materials 6,00,000

Variable Works Overheads 2,00,000

Basic Wages 2,00,000

Fixed Production overhead 80,000

Production Expenses-Material 40,000

Administrative Expenses-Rigid 40,000

Selling Overheads (10% Fixed) 1,20,000

Distribution on Cost (80% Variable) 60,000

Prepare a Flexible Budget for the production at 60% and 80% capacity
showing separately

i) Prime Cost

ii) Works Cost

iii) Cost of Production

iv) Cost of turnover


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Q1) Attempt any ten out of twelve from the following : [10 × 1 = 10]

i) _________ in an organization is an important element of that organization.

a) Workers b) Labour

c) Leader d) Supplier

ii) _________ means a process of stimulating people to action to accomplish
desired goals.

a) Motivation b) Organization

c) Planning d) Controlling

iii) How many levels are there in the hierarchy of motivational needs?

a) 6 b) 5

c) 4 d) 2

iv) _________ proposed the Z theory of management.

a) Prof. Auchi b) Henri Fayol

c) Henry Mintberg d) Peter Drucker

v) Full form of M.B.O.

a) Management by objectives b) Management by work

c) Management by plan d) Management by theory

SEAT No. :

P.T.O.



[5952]-SODL-316 2

vi) ________ means marketing with the help of internet.

a) Digital marketing b) Mobile marketing

c) Social marketing d) Green marketing

vii) _________ is a harmonious adjustment of specialized parts for the
accomplishment of some common purpose.

a) Organizational behavior b) Changes in organization

c) Nature of organization d) None of the above

viii) __________ is group of people who are co-operating under the direction
of leadership for the accomplishment of a common end.”

a) Organization b) Planning

c) Controlling d) Motivation

ix) ________ is the Chairman and Executive Director of Mahindra and
Mahindra Group.

a) Adar Poonawala b) Mr. Anand Mahindra

c) Baba Neelkanth Kalyani d) Shiv Nadar

x) Aadar Poonawala was born on __________.

a) 14 January 1981 b) 15 January 1981

c) 16 January 1981 d) 17 January 1981

xi) A group in which a person interacts directly with other members is called
_________.

a) Secondary group b) Primary group

c) Third group d) Business

xii) The process of marketing through internet is ________.

a) Digital Marketing b) Search Engine Optimization

c) Google Edward d) Social marketing
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Q2) Attempt any five out of seven from the following marks : [5 × 5 = 25]

a) Explain organizational behaviour model.

b) Explain Distinguish between individual behavior and group behavior.

c) Explain the meaning and definition of team in entrepreneurship.

d) Explain the types of stress in entrepreneurship.

e) Explain Douglas McGregor Theory X and Theory Y.

f) Explain types of digital marketing.

g) Explain employee involvement programme in entrepreneurship.

Q3) Attempt any five out of seven from the following : [5 × 5 = 25]

a) Explain the nature of organizational behavior.

b) Explain the meaning and definition of Individual behavior.

c) Write about the entrepreneurial journey of Anand Mahindra.

d) Explain the group formation process.

e) Explain meaning and definition of conflict management in entrepreneurship.

f) Explain management by Objectives. (M.B.O)

g) Explain meaning and definition of digital marketing.

Q4) Attempt any One out of two from the following : [1 × 10 = 10]

a) Meaning and definition of Motivation. Explain types of motivation.

b) Defining the term personality for entrepreneurship. Explain characteristics
of personality of entrepreneurship.


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àíZ 1) Imbrbn¡H$s H$moUVohr Imbrbn¡H$s H$moUVohr Imbrbn¡H$s H$moUVohr Imbrbn¡H$s H$moUVohr Imbrbn¡H$s H$moUVohr 10 àíZ gmoS>dm : àíZ gmoS>dm : àíZ gmoS>dm : àíZ gmoS>dm : àíZ gmoS>dm : [10 × 1 = 10]

i) g§KQ>Zo‘Yrb .................. hm Ë¶m g§KQ>ZoMm ‘hÎdmMm KQ>H$ AgVmo.

A) H$m‘Jma ~) ‘Owa

H$) ZoVm S>) nwadR>mXma

ii) Ano{jV Ü¶o¶àmárgmR>r à¶ËZ H$aÊ¶mg bmoH$m§Zm CÎmo{OV H$aÊ¶mMr à{H«$¶m åhUOo ...........
hmo¶.

A) A{^àoaUm ~) g§KQ>Z

H$) {Z¶moOZ S>) {Z¶§ÌU

iii) A{^àoaUoÀ¶m JaO A{YloUr‘Ü¶o {H$Vr ñVa AmhoV.

A) 6 ~) 5

H$) 4 S>) 2

iv) ............... ¶m§Zr ì¶dñWmnZmMm PoS> {gÕm§V ‘m§S>bm.

A) àm Am¡Mr ~) hoZ«r ’o$¶mob

H$) hoZ«r q‘Q>~J©> S>) nrQ>a S´>H$a

v) M.B.O Mo nyU© ê$n gm§Jm.

A) C{Ôï>m§Zwgma ì¶dñWmnZ> ~) H$m‘mZwgma ì¶dñWmnZ

H$) ¶moOZoZwgma ì¶dñWmnZ S>) {gÕm§VmZwgma ì¶dñWmnZ

P.T.O.
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vi) ............... åhUOo B§Q>aZoQ>À¶m gmhmæ¶mZo {dnUZ H$aUo hmo¶.

A) {S>OrQ>b ‘mH}$qQ>J ~) ‘mo~mBb {dnUZ

H$) gm‘m{OH$ {dnUZ S>) J«rZ ‘mH}$qQ>J

vii) H$moUË¶mhr gm‘Ý¶ C{Ôï>m§À¶m nyV©VoH$[aVm d¡{eï>¶nyU© ^mJm§‘Ü¶o gw¶mo½¶ g‘Ýd¶ àñWm{nV
H$aÊ¶mMr {H«$¶m åhUOoM .............. hmo¶''.

A) g§KQ>ZmË‘H$ dV©Z ~) g§KQ>ZoVrb ~Xb

H$) g§KQ>ZoMo ñdê$n S>) darbn¡H$s Zmhr

viii) gm‘mÝ¶ C{Ôï>m§À¶m nyV©VogmR>r ZoV¥ËdmH$Sy>Z {‘iUmè¶m {ZX}emZwgma ghH$m¶© H$aUmam ì¶³VtMm
g‘wh åhUOo .................. hmo¶''.

A) g§KQ>Z ~) {Z¶moOZ

H$) {Z¶§ÌU S>) àoaUm

ix) ............... ho ‘qhÐm Am{U ‘qhÐm J«wnMo AÜ¶j d H$m¶©H$mar g§MmbH$ åhUyZ H$m¶©aV
AmhoV.

A) AmXa nwZmdmbm ~) lr. AmZ§X ‘qhÐm

H$) ~m~m ZrbH§$R> H$ë¶mUr S>) {ed ZmS>a

x) ................ amoOr AmXa nyZmdmbm ¶m§Mm OÝ‘ Pmbm.

A) 14 OmZodmar 1981 ~) 15 OmZodmar 1981

H$) 16 OmZodmar 1981 S>) 17 OmZodmar 1981

xi) Á¶m JQ>mV EImXr ì¶³Vr WoQ> BVa gXñ¶m§er g§dmX gmYVo Ë¶mbm ................. Ago
åhUVmV.

A) Xþæ¶‘ JQ> ~) àmW{‘H$ JQ>

H$) V¥{V¶ JQ> S>) ì¶dgm¶

xii) B§Q>aZoQ>À¶m ‘mÜ¶‘mVyZ Ho$br OmUmar {dnUZmMr à{H«$¶m åhUOo .............. hmo¶.

A) {S>{OQ>b {dnUZ ~) gM© B§{OZ Am°pßQ>‘m¶PoeZ

H$) JwJb ES>dS>© S>) gm‘m{OH$ {dnUZ
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àíZ 2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm : [5 × 5 = 25]

A) g§ñWmË‘H$ dV©Z àmê$n/‘m°S>ob ñnï> H$am.

~) d¡¶{³VH$ dV©Z Am{U g‘yh dV©Z ¶mVrb ’$aH$ ñnï> H$am.

H$) CX¶moOH$VoVrb g§K AW© d ì¶m»¶m ñnï> H$am.

S>) CX²¶moOH$VoVrb VmUmMo àH$ma ñnï> H$am.

B) S>½bg ‘°J«oJa ¶m§Mm j {gX²Ym§V Am{U ¶ {gX²Ym§V ñnï> H$am.

’$) {S>{OQ>b ‘mH}$qQ>JMo àH$ma ñnï> H$am.

¶) CX²¶moOH$Vo‘Yrb H$‘©Mmar gh^mJr H$m¶©H«$‘ ñnï> H$am.

àíZ 3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm : [5 × 5 = 25]

A) g§KQ>ZmË‘H$ dV©ZmMo ñdê$n ñnï> H$am.

~) ì¶{³VJV dV©ZmMm AW© d ì¶m»¶m ñnï> H$am.

H$) AmZ§X ‘qhÐm ¶m§À¶m CX²¶moOH$s¶ àdmgmMr ‘m{hVr {bhm.

S>) g‘wh {Z{‘©Vr à{H«$¶m ñnï> H$am.

B) CX²¶moOH$VoVrb g§Kf© ì¶dñWmnZmMm AW© Am{U ì¶m»¶m ñnï> H$am.

’$) C{Ôï>m§Zwgma ì¶dñWmnZ g§H$ënZm ñnï> H$am.

¶) {S>{OQ>b ‘mH}$qQ>JMm AW© d ì¶m»¶m ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVmhr 1 àíZ gmoS>dm : [1 × 10 = 10]

A) A{^àoaUoMm AW© Am{U ì¶m»¶m XoD$Z A{^àoaUoMo àH$ma ñnï> H$am.

~) CX²¶moOH$VogmR>r ì¶{³V‘ËdmMr ì¶m»¶m XoD$Z. CX²¶moOH$VogmR>r ì¶{³V‘ËdmMr d¡{eï²>¶o
ñnï> H$am.


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Q1) Attempt Any Ten : [10]

i) Which of the following is NOT an element of the marketing mix?

a) Distribution b) Product

c) Target Market d) Pricing

ii) Political campaigns are generally examples of _______

a) Cause Marketing b) Organization Marketing

c) Event Marketing d) Person Marketing

iii) Marketing is a process which aims at _________

a) Production

b) Profit-making.

c) The satisfaction of customer needs

d) Selling products

iv) Today, marketing must be understood in a new sense that can be
characterized as __________.

a) Get there first with the most

b) Management of youth demand

c) Satisfying customer needs

d) Telling and selling

SEAT No. :

P.T.O.
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v) Customer satisfaction can be defined by comparing __________
a) Predicted service and perceived service
b) Predicted service and desired service
c) Desired service and perceived service
d) Adequate service and perceived service

vi) Which of the following is not the service process?
a) Physical evidence b) People processing
c) Possession processing d) Information processing

vii) ________ includes two aspects of a brand - its associations and its
personality.
a) Brand Attitude b) Brand Positioning
c) Brand Relationship d) Brand Image

viii) It is used to identify’ the brand, to enhance brand awareness and to
facilitate unique brand associations.
a) Brand Elements b) Brand Personality
c) Brand Positioning d) Brand Marketing

ix) Tele - Marketing is a part of ________
a) Viral Marketing b) Social Marketing
c) Direct Marketing d) Relationship Marketing

x) Services are characterized by all of the following characteristics except
for __________.
a) Intangibility b) Homogeneity
c) Perishability d) Inseparability

xi) Which of the following is not included in seven Ps of the marketing mix
given by Booms and Bitner?
a) Process b) People
c) Politics d) Physical evidence

xii) ________ defines what the brand thinks about the consumer, as per the
consumer.
a) Brand Attitude b) Brand Positioning
c) Brand Relationship d) Brand Image
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Q2) Attempt any Five from the following : [25]

a) What is marketing control?

b) What are the two main categories of advertising appeal?

c) Explain the various effects of advertisement on consumer choice.

d) What are the main characteristics of a brand?

e) What are the most common forms of typefaces?

f) What are the social networking sites?

g) What are the main objectives of marketing control?

Q3) Attempt any five out of seven from the following : [25]

a) Write short Note on importance of advertising appeal.

b) What are the main causes of advertising waste?

c) How brand is identify different from brand image?

d) Write short Note on advertising strategy.

e) What are the main characteristics of social media?

f) What are the various characteristics of marketing audit?

g) Write short note on television advertising.

Q4) Attempt Any One out of two from the following : [10]

a) What are the various types of advertising? Discuss any two in details.

b) Describe the differences between B2B & B2C Services.


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àíZ 1) Imbrbn¡H$s H$moUVohr Xhm àíZ gmoS>dm : [10]
i) Imbrbn¡H$s H$moUVm {dnUZ {‘lUmMm KQ>H$ Zmhr.

A) {dVaU ~) CËnmXZ

H$) bú¶ ~mOma S>) qH$‘V

ii) amOH$s¶ ‘mo{h‘m hr gmYmaUnUo ................. Mo EH$ CXmhaU Amho.

A) H$maU {dnUZ ~) Am°J©Zm¶PoeZ ‘mH}$qQ>J

H$) Bìh|Q> ‘mH}$qQ>J S>) ì¶³Vr {dnUZ

iii) {dnUZ hr EH$ à{H«$¶m Amho Á¶mMm CÔoe ................. Amho.

A) CËnmXZ ~) Z’$m {‘idUo

H$) J«mhH$m§À¶m JaOm nyU© H$aU S>) CËnmXZo {dH$Uo

iv) AmO ‘mH}$qQ>Jbm ZdrZ AWm©Zo g‘OyZ KoUo Amdí¶H$ Amho Á¶mMo ................. Ago
dU©Z Ho$bo OmD$ eH$Vo.

A) gdm©V AmYr {VWo nmohmoMm ~) Vê$Um§À¶m ‘mJUrMo ì¶dñWmnZ

H$) J«mhH$m§À¶m JaOm nyU© H$aUo> S>) gm§JUo Am{U {dH«$s H$aUo

v) J«mhH$m§Mo g‘mYmZ ................ VwbZm H$ê$Z n[a^m{fV Ho$bo OmD$ eH$Vo.

A) A§Xm{OV godm Am{U AZŵ dbobr godm

~) A§XmO godm Am{U BpÀN>V godm

H$) BpÀN>V godm Am{U AZŵ dbobr godm

S>) nwaoer godm Am{U g‘Obobr godm

P.T.O.
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vi) Imbrbn¡H$s H$moUVr godm à{H«$¶m Zmhr?

A) ^m¡{VH$ nwamdm ~) bmoH$ à{H«$¶m H$aV AmhoV

H$) Vm~m à{H«$¶m S>) ‘m{hVr à{H«$¶m

vii) .............. ~±«S>À¶m XmoZ n¡by§Mm g‘mdoe hmoVmo - Ë¶mÀ¶m g§KQ>Zm Am{U Ë¶mMo ì¶{³V‘Ëd.

A) ~±«S> d¥Îmr ~) ~«±S> nmo{PeqZJ

H$) ~«±S> g§~§Y S>) ~±«S> à{V‘m

viii) ~±«S> AmoiIÊ¶mgmR>r, ~±«S> OmJê$H$Vm dmT>dÊ¶mgmR>r Am{U AX²{dVr¶ ~±«S> Agmo{gEeZ
gwb^ H$aÊ¶mgmR>r ............... ¶mMm dmna Ho$bm OmVmo.

A) ~«±S> KQ>H$ ~) ~«±S> ì¶{³V‘Ëd

H$) ~«±S> nmo{PeqZJ S>) ~«±S> ‘mH}$qQ>J

ix) Q>obr - ‘mH}$qQ>J hm ............... Mm EH$ ^mJ Amho.

A) ìhm¶ab ‘mH}$qQ>J ~) gmoeb ‘mH}$qQ>J

H$) WoQ> {dnUZ S>) [aboeZ{en ‘mH}$qQ>J

x) godm§‘Ü¶o ................ dJiVm Imbrb gd© d¡{eï²>¶m§ À¶m AmYmao d¡{eï²>¶rH¥$V Ho$bo
OmVo.

A) A‘yV©Vm ~) EH${OZgrnUm

H$) Zmed§VnUm S>) A{d^mÁ¶Vm

xi) Booms Am{U Bitner Zo {Xboë¶m ‘mH}$qQ>J {‘³gMm 7Ps ‘Ü¶o Imbrbn¡H$s H$moUVo
g‘m{dï> Zmhr?

A) à{H«$¶m ~) bmoH$

H$) amOH$maU S>) ^m¡{VH$ nwamdm

xii) ................ J«mhH$m§~X²Xb H$m¶ {dMma H$aVmo Vo n[a^m{fV H$aVo.

A) ~±«S> d¥Îmr ~) ~«±S> nmo{PeqZJ

H$) ~«±S> g§~§Y S>) ~±«S> à{V‘m
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àíZ 2) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao {bhm : [25]

A) {dnUZ {Z¶§ÌU åhUOo H$m¶?

~) Om{hamV  AmdmhZmÀ¶m XmoZ ‘w»¶ loUr H$m¶ AmhoV?

H$) J«mhH$m§À¶m {ZdS>rda Om{hamVtMo {d{dY n[aUm‘ ñnï> H$am.

S>) ~±«S>Mr ‘w»¶ d¡{eï²>¶o H$m¶ AmhoV?

B) Q>mBn’o$gMo gdm©V gm‘mÝ¶ àH$ma H$moUVo AmhoV?

’$) gmoeb ZoQ>d{Hª$J gmBQ²>g H$moUË¶m AmhoV?

¶) {dnUZ {Z¶§ÌUmMr ‘w»¶ C{Ôï>o H$moUVr AmhoV?

àíZ 3) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao {bhm : [25]

A) Om{hamV AmdmhZmÀ¶m ‘hÎdmda Q>rn {bhm.

~) Om{hamVtÀ¶m H$Mè¶mMr ‘w»¶ H$maUo H$moUVr?

H$) ~±«S>Mr AmoiI ~±«S> B‘oOnojm doJir H$er Amho?

S>) Om{hamV YmoaUmda Q>rn {bhm.

B) gmoeb ‘r{S>¶mMr ‘w»¶ d¡{eï²>¶o H$moUVr AmhoV?

’$) ‘mH}$qQ>J Am°{S>Q>Mr {d{dY d¡{eï²>¶o H$moUVr AmhoV?

¶) XÿaXe©Zdarb Om{hamVtda Q>rn {bhm.

àíZ 4) Imbrbn¡H$s H$moUË¶mhr EH$ àíZmMo CÎma {bhm : [10]

A) {d{dY àH$maÀ¶m Om{hamVr H$m¶ AmhoV? H$moUË¶mhr XmoZMr Vnerbdma MMm© H$am.

~) B2B Am{U B2C godm§‘Yrb ’$aH$m§Mo dU©Z H$am.





Q1) Attempt any Ten out of Twelve from the following : [10]
a) What is mean by under writting?
b) What is mean by privatisation?
c) What is mean by surveyor?
d) Which organisation regulates Insurance Sector in India?
e) What is mean by ‘Ombudsmen’?
f) Define Ethical Behaviour.
g) What is mean by Tour package?
h) Define - Tour package design.
i) What is mean by ‘Tour Broucher’?
j) What is mean by ‘Tour Operator’?
k) What is the full form of F.D.I.?
l) Define Tour marketing.

Q2) Attempt any Five out of Seven from the following : [25]
a) Different types of Insurance customers.
b) Risk Management.
c) Objectives of underwritting.
d) State the functions of surveyor.
e) Significance of Tour package.
f) State the carreer in Tour Marketing.
g) Which documents required for foreign tour.

Total No. of Questions : 4]
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Q3) Attempt any Five out of Seven from the following : [25]

a) Explain the underwritting process.

b) Future of Insurance business in India.

c) Right to Information Act and Insurance business.

d) Types of Tour package.

e) Factors affecting Tour package.

f) Role of Tour Guide.

g) Customer satisfaction in Tour.

Q4) Attempt any One out of Two from the following : [10]

a) What is mean by Underwritting? What are the objectives and principles
of underwritting.

b) What are the objectives of IRDA and functions of IRDA.


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Total No. of Questions : 4]
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306 K : INSURANCE, TRANSPORT & TOURISM - III
(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 3 Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>rb A§H$ àíZmMo JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.
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àíZ 1) H$moUVohr Xhm àíZ gmoS>dm. [10]
A) h‘r åhUOo H$m¶?
~) ImOJrH$aU åhUOo H$m¶?
H$) gd}jH$ åhUOo H$m¶?
S>) ^maVmV H$moUVr {Z¶m‘H$ g§ñWm {då¶mMm ì¶dgm¶ {Z¶§ÌrV H$aVo.
B) {d‘m bmoH$nmb åhUOo H$m¶?
’$) Z¡{VH$ dV©ZmMr ì¶m»¶m H$am.
¶) Qy>a n°Ho$O åhUOo H$m¶?
a) ì¶m»¶m H$am - Qy>a n°Ho$O {S>PmB©Z.
b) Qy>a ‘mhrVr nwpñVH$m åhUOo H$m¶?
d) Qy>a Am°naoQ>a åhUOo H$m¶?
g) F.D.I Mo nyU© ñdê$n (Full form) H$m¶ Amho?
h) Qy>a {dnZZ åhUOo H$m¶?

àíZ 2) H$moUVohr nmM àíZ gmoS>dm : [25]
A) {d‘m J«mhH$m§Mo {d{dY àH$ma.
~) Omo{I‘ ì¶dñWmnZ.
H$) h‘rMr C{Ôï>o gm§Jm.
S>) gd}jH$mMr H$m¶} gm§Jm.
B) Qy>a n°Ho$OMo ‘hÎd.
’$) Qy>a {dnZZmVrb H$ma{H$X© gm§Jm.
¶) naXoe ghbrgmR>r H$moUVr H$mJXnÌo bmJVmV.

P.T.O.
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àíZ 3) H$moUVohr nmM àíZ gmoS>dm. [25]
A) h‘rMr  à{H«$¶m gm§Jm.

~) ^maVr¶ {d‘m ì¶dgm¶mMo ^{dî¶

H$) ‘mhrVr Am{YH$ma H$m¶Xm Am{U {d‘m ì¶dgm¶.

S>) Qy>a n°Ho$OMo àH$ma gm§Jm.

B) Qy>a n°Ho$Oda narUm‘ H$aUmao KQ>H$ gm§Jm.

’$) ghb ‘mJ©Xe©H$mMr (Qy>a JmB©S>) ŷ{‘H$m.

¶) ghbr‘Ü¶o (Qy>a‘Ü¶o) J«mhH$m§Mo g‘mYmZ.

àíZ 4) H$moUVmhr EH$ àíZ gmoS>dm : [10]
A) h‘r åhUOo H$m¶? h‘rMr C{Ôï>o Am{U VÎdo gm§Jm.

~) IRDA Mr C{Ôï>o Am{U H$m¶} gm§Jm.


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